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X A

Ha: o

H . ool () - NIRAY - B il
- AR A D] 1, 1183 x 110 x24L »8H 23,613
- TUHAY FHAAZHI 7,500

OFM HI & 125,000 x50 A+ 123 7,500

OA&ZH R Xl 169,408
== I E-DN =] 100,000& »21CH 2,100
- HIPXAZEH| 23,000& »150CH 3,450
- S AYEH| 110, 000& *6CH 660
-2HEE 350, 0002 »2CH 700
- 1192 &2 =&l 1,000,000& 5K E 5,000
-—HHSEAMH,SIIE&I]  300,000& 1404 4,200
- f24d=252 Xl 12,960

D8, IX= 1,500,000 *6= *6% 540
Ols, 5= 1,000, 000& x207 = 6% 12,420
—SH M 2RI 2 300,000 *7H 2 2,100
— WIS X 2e 50,000, 000& *6% 3,000
—2aF=AMAE S 2el 232,033,330 6% 13,922
- M AEHI R A2 7,566
— E AMCCTVR Al 2t 2l 5,000, 000& =7 JH 2 *6% 2,100
- 19MEE 20|88 FHIE=
250,000 *10JH 2~ 2,500
—1OM X EXEH FHE4
100, 0003 #4004 2 4,000
- 119720 2Z2eld X2 2,000
- S&EH A2 250,000& »22CH 5,500
— X G Al AR XY 20,000
- A2 KR AHl 22,220
- EMNELES 53,430
- EAMA=H] 400,000& *53| 2,000

Ei PR 307,918

B2 H Y| 307,918

2324l 307,918

Oz22= & HA 64,498
- NS A 470,000 *2CH 13 940
-NsHEE= 54,547
- NHEASZAZ 2,660

5401 & 35,000 x31CH 23] 2,170
54 0| gt 35,0003 x14CH*13] 490
- NHESEIEME 1,631
- HE XS 61,0002 x6CH*13] 366
- BEIE 53,000& x10CH 13 530
NS 51,000& x10CH 13 510
- BEIE 45,000 *5CH x13] 225
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ESEAYA
BEMAYIIET
gEsXaA(~Y tel &)
A 3. e ALY - HAS il Bl RE2
-S=x == 4,720
=2t 1,200, 0002 = 1CH 1,200
Xt 880,000 30K 2,640
N 880,000& »1CH 880
OXt& & B 243,420
- AESE 4,350,000& =4 H 17,400
-Z8s8 4,450,000 »1CH 4,450
-HeEss 7,200,000% *1CH 7,200
-=gs¥ 5,800,000 =3CH 17,400
-eEsE 9,850,000 *1CH 9,850
- AgEs 3,840,000 *3CH 11,520
-Sests 4,040,000 »3CH 12,120
-tHests 7,500,000 =6CH 45,000
=N, 7,510,000 »8CH 60,080
-—EIZXt 3,850,000 =14CH 53,900
— AR XA AC| QI A 4,500,000 = 1CH 4,500
LAgEXHARY 225,916 178,897 47,019
= 225,916
101 @124 dl 101,900 45,347 56,553
= 101,900
02 JIEt& B == 101,900 45,347 56,553
OaxgsE=xod 29 101,900
= 101,900
201 Let24d] 92,916 115,755 A 22,839
= 92,916
01 At 22l 92,916 115,755 222,839
Oagt8xold 29 92,916
= 92,916
202 O4dl 26,600 9,775 16,825
= 26,600
01 = LH 4 Hi 26,600 9,775 16,825
Oag=Exod 29 26,600
= 26,600
203 YR =&t 4,500 8,020 A 3,520
= 4,500
04 FN2EHRF 4,500 8,020 A 3,520
OagtExod 299 4,500
= 4,500
ALHFASFA 661,056 629, 104 31,952
201 et 157,601 149,784 7,817
01 A2 22l 157,601 149, 424 8,177
ogetd =2 32,000
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SN BESRAUA
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
< 776,464
SYESsSHY 174,010 249,791 AT5,781
A 5,100
< 168,910
201 LB-2d| 19,900 19,900 0
A 2,500
< 17,400
01 At 2t 2l 17,400 17,400 0
O=Atl 15,000
- MHHEd &5 & EHEI 24l 15,000
Oogxtz 2,400
—SIMHMEZ=EREH S X 300,000 «2CH *43] 2,400
03 A2 Z Hl 2,500 2,500 0
O2dax2=x 2g=d 2,500
EN 2,500
206 = Hl 84,920 79,210 5,710
A 2,100
< 82,820
01 = bl 84,920 79,210 5,710
O3 & e A 3 oF R 14,640
ogoe=0tA3 200,000& =404 8,000
gtz s 20,000& » 100 2,000
O19718x A= 20,0003 +8CH 523 8,320
OMNMIRZxt &aZH 15,000 *8CH » 153 1,800
o197l E=SHMXES  1,200,000+8CH 23] 19,200
o198+ 83 W& 1,000,000& 404 & 4,000
ONMo72l 22 28 23
3,000,000 1Ml E 3,000
OXNSEAMAMSI WX 5,070
O=sgEda =Z3¢E 50,000& 304 1,500
OO E FAIINE 80,000 +38AI E 3,040
OgIMAH AL2 5,000& 7004 3,500
O=tMele ¢tEOtE XE 4,500
- 43D 25,0002 1004 2,500
—H=EZEH 2 XD 20,000 » 1004 2,000
OFAAHE JIZLEANE B2 2,250
- A3 25,000 *50H4 1,250
—H=3d2g 20| 20,000& 504 1,000
OSHM AL MHAE EF 2,000
Oodg=x 2gsd 2,100
EN 2,100
301 gt d= 3,600 3,600 0
N 500
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SN BESRAUA
B HEEAAYIINTE
Sl HEUSAYABY(LYSHE) CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
—AgEs2te 20,0003 #7320 2~ %1/2 7,320
401 Al B2 28I 67,500 67,500 0
01 A& HI 67,500 67,500 0
O4std M4 4,000,000& 574 2~ 20,000
OL3d B 2,000,000 1004 2 20,000
Oastd B35 & 500, 000& 10K 2~ 5,000
OastEa+=HI & 250,000 *300H 2 7,500
Otl&dAstde &AX 1,500,000 *109H £ 15,000
oZALURE 366,700 405,240 A 38,540
301 L2 A F 364,700 371,460 A6,760
03 8L UHAAZH 364,700 371,460 26,760
OPNIERSa-lg=, 48,180
- DSsM 1,540,000& x5H 7,700
-k 1,840,000 22X 40,480
o284 233,280
-9 EAEH 36,000& *540H 123 233,280
o1l =l 48,600
— B S| 90,0003 45 «540H 25% 48,600
Oosi8ll &322 36,000& x540H 19,440
O119=S &AM ESEX 20,000 x15% »123] 3,600
Ood=42l Hegs 22 XA 2,000
—EFANSREAEL L 2,000
OdgoAsEaedl 29 33|
800,000& *1JH CH 128 9,600
405 THarE S| 2,000 33,780 A 31,780
01 AL EFSFHSHI 2,000 33,780 A 31,780
O119=S&A W=EE 0Ll 400,000& *5H 2,000
LYHAIZ S 33,400 53,820 220,420
201 Let24d] 26,400 26,200 200
01 At 22l 9,200 9,000 200
O+t 8,400
—0{glol tEESE NEI 4,000
— =X AA 3,400
OtH, 89 300,000 *8H 2 2,400
EEROU=S 1,000
—dHAM=E N 29 1,000
ozg=¢ 800
—EXMEA HARIESE
100,000 x1E 4 2 2 400
—AHAMsE BANS AMRAJISY
100,000& »2H 200
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SN BFESRLUA
HE: HYBAAUI|MDE
Cel: S3USALHBA(ALSEFA) (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
—9rg o0 ANTaEg
100, 000& »2H 200
03 A2 Z Hl 17,200 17,200 0
OGtAHANE Ol AgtotM A 4,000
O19Aagsisl 3,000
oM dt 299 2,600
OO0l ol 11980t =M 4,000
AHAM= AN 2,000
Ol &d A 1,600
301 L2 Az 7,000 9,800 A 2,800
09 SAEHIE &S 7,000 9,800 A 2,800
Oagold At IR =4 7,000& x150H 1,050
OGtAE 0l AetdMnA LA S4
7,000& x250H 1,750
O119AYsUs A =4 7,0008 x200F 1,400
O O0I198t Dt =M &It =4
7,000& 400 2,800
HE 2 A A 11,124,440 10,401,654 722,786
oleEIy(ALSEs H) 10,654,703 10,052,697 602,006
ol 2AH| 10,654,703 10,052,697 602,006
101 1244 dl 10,362,323 9,760,917 601,406
01 2= 10,362,323 9,760,917 601,406
Og =M 81,859
-AYH 81,859,000& »1H 81,859
OZ=H 6,069,884
-4 4,504 ,500& x3H «128 162,162
-agd 3,952,200& x15H x12& 711,396
-2 3,587,900 x29H 123 1,248,590
- g 3,021,000& x44H x12& 1,595,088
—agn 2,178,200& x56H 123 1,463,751
— DAL 1,806,700& 41K x12& 888,897
oz3z+% 445,722
O=l22Y 1,909, 366
- Azt 24 1,208,229
o284 440,138
-522f+E 260,999
OFS =, 779,668
-JtEE 131,400
bH < Xt 40,0003 «134H 128 64,320
A EH S 20,000 x259H x12& 62,160
DI 4,920
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SN BFESSLUA
u: #H2AAY
¢ HAHH(ASESESIA)
SA BB O () - NRAY - HES il
- NHESH EX S 464,000 x28Y x4 3| 51,968
- E2goHe3 166,200
25@ 0] & 130,000 45 » 12 70,200
- 20~25 0] et 110,000& 23 «12& 30,360
- 15~20 0] e 80,0003 x13Y 128 12,480
- 10~15= 0] e+ 60,0003 x23H x12& 16,560
5~10 0] 8¢ 50,0003 x61H 128 36,600
-fE2f+E 136,080
43 60,000 189 «12& 136,080
- 30,000 x5H » 128 1,800
- StM& st g 80,0003 =189 «12& 181,440
-3+ 46,925,000 46,925
—-EHIRE 50,0003 x 1 «128 600
-FOFEY 2,214,000 »40%*2H » 128 21,255
- ESHe3 3,500,000& x12& 42,000
OFHUZ A 130,000 x189H x 12& 294,840
OHEFIHYI 6,069,814,000& /12 «120% 606,982
O A2 4|
6,069,814,0002 /128 x86%+*1/30x 12 174,002
204 HR=HAH| 292,380 291,780
02 A2l 292,380 291,780
OFE S 400,000& x 18 128 4,800
oaerd 250,000 x3Y x 128 9,000
oa2g3d, 4 155,000& 45 » 128 83,700
OFE-=p, 140,000 44 «12& 73,920
Oagn, At 105,000& 96 » 128 120,960
EETIESTEEEP) 469,737 348,957
Jl2&l 469,737 348,957
201 LEr2 Y| 122,893 121,293
01 At &t 2| bl 115,393 115,293
OJ12=8Htl 24,003
Oo2g+¢ 51,700
=R Et= 51,700
OJlEs gl 39,690
02 =224l 7,500 6,000
Oz&22= & HA 7,500
-—SEYsE= 625,000& 128 7,500
202 oddl 105,084 105,084
01 20l bl 105,084 105,084
OJ12n bl 105,084
203 YR =&t 57,510 57,510




SN BESRAUA
Hu: #2ARY
Sl IR (AYSEsA) CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 J|22HLR=AH| 12,200 12,200 0
O MNE 4,400,000 =1 4,400
OPCt™ HIE & 1,300,000& x6H 7,800
02 R R =AY 6,670 6,670 0
OZ&E A& & H| 6,670,000 6,670
04 ENSIHRF=AY| 38,640 38,640 0
Ozt HH 370,000& 10 A %12 4,440
O2%,52 .29 U=, 2addHdH, s+
CH 350,000 *6H A~ x12& 25,200
OAgdFy e 2,0lgerd
250,000& *3 A x12& 9,000
204 X2 = A H| 16,800 16,800 0
01 XS RHAH| 16,800 16,800 0
OagME 400,000& x1H x12& 4,800
On& 100,000& 35 x12& 3,600
OCHtHMIEHE  2XRUE 100,000& *7H x12& 8,400
405 XHAHE SH 167,450 48,270 119, 180
01 JHMHY =2 Z F S H 167,450 48,270 119,180
OolelgadEH 2,000,000& =20CH 40,000
D2l (A3 =2} 4,000,000& *=1CH 4,000
O&E X = A 6,000,000& = 1CH 6,000
OYLtetd) 3,000,000& *x5CH 15,000
OMRBEHA 400,000& =234 9,200
OMSBESIAL 400,000 =124 4,800
oA 1,000, 000& *5CH 5,000
O2A Uzoa 29 22 83,450
- &3] 150,000& = 1CH 150
-HIOEZHEH 10,000, 000& *1CH 10,000
- SEHHAME 20,000, 0003 *14] 20,000
— gy 3,000,000& *2CH 6,000
-24a 500, 0003 = 1CH 500
— A3 300,000& = 1CH 300
—-Hlol2 310,000& =504 15,500
— 9| Xt 80,000& * 1504 12,000
— LEDX 2 Tt 16,000, 0003 =1CH 16,000
e — e el 3,000
Hees 61,500 60, 193 1,307
e HAKIE (AL SE3H) 61,500 0 61,500
WEHHX = 61,500 0 61,500
705 Oll=2 32 24aE 61,500 0 61,500
03 Al - EXEHEI S0 ==2R =4 60,000 0 60,000
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N = 0l & At & M A

20178 204 ALSHI A Il

SN EENLLUA
HE: HYBHAYIIMTE
SR AUESIA(AYSEIH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- FAUHAYE FHAASYI 6,000
Ot Al E 6,000
OAlI& &Yl K XYl 154,407
==l I RPNl 100,000& *25CH 2,500
-0 HPXRZEHI 23,000& x152CH 3,496
-Ssa YA 110,000& =12CH 1,320
-2HEE 350, 000& *=2CH 700
- 1197 &2 T &Y 1,000,000& «5AM E 5,000
-HUHZBEYH A, SISE D 300,000 =13CH 3,900
- 28 =22 X4l 14,580
DA JIXN= 1,500,000& *8= *6% 720
-ols . 5U= 1,000,000& *x231=2 *6% 13,860
-S4, MANMdZ R 2 300,000& *6IH 2~ 1,800
- WEJ KX 22 15,000, 000& *6% 900
-2AZATANAE R 22 232,033,330 6% 13,922
— MAFAHI S X 22 7,600
— & MCCTVS Xl 22| 5,000, 000& *8IH A~ x6% 2,400
- NUWeEEH R 80,000, 000& *6% 4,800
- 11O =208 HHE=x
250,000& *2JH 2~ 500
— 1194HS XE M2
100, 000& *20 M 2~ 2,000
- 1197220 gaela g2
2,000,000& *3I4 4~ 6,000
-=8% 22| 250,000& *7CH 1,750
— S ALOI 4 EH) A2
242,000,000& *6% 14,520
-2 7 X bl 16,864
-EHANFEAEA 49,855
NPT 320,777 329,839 £9,062
201 et A | 320,777 313,379 7,398
02 =294l 320,777 313,379 7,398
O332=2 % HAl 65,787
- XS XA 250,000& *50H *13] 1,250
-AsSXi BEE=2 54,021
- HEHESSBAIE 2,415
5 0 &t 35,000& *26CH x23] 1,820
5E 0] 8t 35,000& «17CH =13l 595
- XIHSESEAZ 1,941
- HE X e 61,000& *12CH *13] 732
ES=PNE=4 53,000 *18CH *13] 954
Eng=DNE= 51,000& x50 *13] 255
- SaXY JLUNEH S 6,160
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SN BENR
S X A

X{ XH -
S =

R AYBENE(AYSHA) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
JEEEDN 880, 000& »7H 6,160
(@PNE=FaR=1a:] 254,990
-AESE 4,350,000 »3CH 13,050
-SESE 4,450,000& *3CH 13,350
-=8358 5,800, 000& *5CH 29,000
-Hegsg 9,850,000& = 1CH 9,850
-AES2 3,840,000& = 1LH 3,840
-=83s= 4,040,000& =3CH 12,120
-UHEs2 7,500, 000& «9LH 67,500
- 23Xt 7,510,000& =8CH 60,080
-Z-IOXt 3,850,000& ~12CH 46,200
AE8BX0HE2YH 193,097 202,300 N 9,203
= 193,097
101 2121 d| 74,200 56,960 17,240
= 74,200
02 JIEA 2 %= 74,200 56,960 17,240
Oagtgxod 29 74,200
= 74,200
201 LBt Y| 99,997 123,880 N 23,883
= 99,997
01 At 22l ] 99,997 123,880 N 23,883
OAgExod 24 99,997
= 99,997
202 04| 13,500 11,818 1,682
= 13,500
01 2L Y| 13,500 11,818 1,682
Oagtgxold 29 13,500
= 13,500
203 R =&H| 5,400 9,642 N4, 242
= 5,400
04 EANSHLRF=XH| 5,400 9,642 N4, 242
Oagtgxod 29 5,400
= 5,400
AEHNEAHAREX 665,873 667,833 A 1,960
201 et A H| 162,633 162,993 A 360
01 At 22l ] 162,633 162,633 0
Ogetd a+2H| 32,000
O = 3,720
-2 MY 3,120
MNEDNR 130, 000& *2H x4 3] 1,040
lE X & SZHXLNR
130, 000& *2H x4 3] 1,040
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SN EENLLUA
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
201 Yet2 | 22,300 22,300 0
A 2,500
= 19,800
AP 22| H| 19,800 19,800 0
O34l 15,000
- MHESEEES & SEHEIINL S| 15,000
Oex= 4,800
-SIMSE=2EH L X 300,000 =201 *83] 4,800
HAF2 A HI 2,500 2,500 0
o3 x AdtEd 2,500
A 2,500
2 | 95,604 85,010 10,594
o~ 2,100
== 93,504
1 JHZ 8l 95,604 85,010 10,594
O3 & 2 A 3F kA 15,000
gAS=S0IAT 200,000& *20JH 4,000
Ods2& 20,000& =100 2,000
o192 x o= 20,000& *80LH 523] 8,320
OIS dASEH 15,000 *8CH x73] 840
Oo19722U SSHISS
1,200,000 8L *23] 19,200
O1971S U Z2E22s 2HEE
3,000,000 «3MI E 9,000
ONSHMASI WX 3,564
OXNSHMA SO bHEl 2l 880,000 64 5,280
o1gsas»xe &2 e 1,000,000 =54 A~ 5,000
Osdgda ZE3¢Et 50,000& *30H4 1,500
OL0HZ F=AIIME 80,000& 10K E 800
OYEMAHA 222 5,000& *200H4 1,000
O=Z24a35 | 40,000& *100H 4,000
OstMgls eotdots XA 4,500
— A 30| 25,000& x50 *23] 2,500
- H=328 20 20,000& *500H x23| 2,000
OFALHE JI=A8AE B2 4,500
— 2 3HD] 25,000 * 1004 2,500
- HEsHAEE 20| 20,000& = 1004 2,000
OXNEHIZSU 2SLE 500,000& =2CH 1,000
OfldlsS ZEHHIME 2,000,000& 1Nl E 2,000
OSSN A MHAE 83 2,000
O3 x AtEd 2,100
S 2,100
301 et A= 3,600 3,600 0

_38_




SN BENR
PN

e
o HESAAYIIURS
tel: E¥USAYAEL(ALSEIA) (&)
5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
E 500
< 3,100
09 HALAHIE& S 2,600 2,600 0
Og72x&d & MHEE A N2
7,000 %1009 *33] 2,100
Odg=x 2¢4Ed It X3 500
EN 500
1MIIEESS 1,000 1,000 0
OAdd & WHHEE F3012+0 AN
100,000& =10 1,000
401 AlEHI L2 0hYI 2,000 2,000 0
01 A& Bl 2,000 2,000 0
O1odE==<0/g X 1,000,000& *20H 2~ 2,000
405 XHoHF S HI 30,155 93,425 AB63,270
01 XY 2 Z F S| 30,155 93,425 AB63,270
O3HH &l e 2| 7,455
—AgsSA 87,500& »14CH 3= 3,675
-2 200, 0003 *14CH =14 2,800
-OJlsast&EA X 70,000& =144 980
Ogs= MEI L A=XD| 17,000, 0002 »1CH 17,000
O AIE DI 5,700,000 = 1CH 5,700
FAMAEFZHEZ 43,000 140,600 A 97,600
401 A& BIZ 201 8I 43,000 140,600 A 97,600
01 A& HI 43,000 140,600 A 97,600
2119t M S#ZA 38,000
OAMAE19H M MIEH ALY SZ IS 5,000
AUBEALBL 62,180 62,010 170
201 L2l 7,180 7,010 170
02 22224l 7,180 7,010 170
OA& &8s X bl 7,180
—agE=2e 20,0003 *718M & +1/2 7,180
401 Al HI L 2 THHI 55,000 55,000 0
01 A& HI 55,000 55,000 0
OL3d A4 4,000,000 *5H 2 20,000
OL3d B 2,000,000 *100H & 20,000
OL3d BESE 500,000 * 1094 2 5,000
OdlatAstE X &X 10,000,000& *1JH £ 10,000
gELLU2A 290,080 288,170 1,910
301 YstE A 274,280 287,370 A 13,090
03 2 EA~LUHAHEH 274,280 287,370 A 13,090
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SN EENLLUA
HE: HYBAAUIIMDE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
09 HALAHIEA S 6,160 8,960 A 2,800
Oagold At IR =4 7,000& =150 1,050
OGtAHO S0l AetM WA IR S4
7,000& x180 1,260
O Yd=2Ua EILA =4 7,000& 150 1,050
OOgol 11980t =M ot 24
7,000& *400H 2,800
HE2LAIH (BFANRLAEAM) 11,880,039 11,000, 646 879,393
ol (ALSEs H) 11,523,828 10,652,905 870,923
ol 2| 11,523,828 10,652,905 870,923
101 @124l 11,210,868 10,341,625 869,243
01 2= 11,210,868 10,341,625 869,243
O¢=H 81,859
-AEH 81,859,000& »1H 81,859
oss 6,598,460
-—agd 4,411,800 x4 «128 211,767
-—agd 3,874,200& x15H x12& 697,356
- 3,545,600& *39H 123 1,659,341
- agd 3,021,000& x49H 123 1,776,348
—agn 2,250,400& x50H 123 1,350,240
— 2 EHAL 1,882, 100& »40H 123 903,408
o824 488,247
Oxl=z2=2=¢ 2,030,566
—AN2ZAZ R 1,267,467
—-orz2e 479,035
5422 284,064
OZdg 852,031
-JIE+g 151,680
b < Xt 40,000 135 128 64,800
A EH S 20,000 305« 12& 73,200
a3 13,680
- ANESHIEE+E 50,112
RS-t 464 ,000& 27 E *43| 50,112
- Rt a= ) = 179,760
254 0] &f 130,000& x51H 128 79,560
- 204 ~254 110,000 19 »12& 25,080
- 158 -~204 80,0003 x19H 128 18,240
- 108 ~154 60,000 x29H x12& 20,880
- 5E~104 50,0003 60«12 36,000
-fEg2exd 141,840
A3 60,0003 197 128 141,840




SN BENRAYA
2

Bu: WML (HFNRLBN)
S BT IPNTEEEP CERED
SA - BB B () - MM - BES Ol &t o San HmEET
- 30,0003 x5 128 1,800
-StM& st 80,0003 «197H 128 189,120
-3 49,394
-S04 42,125
-EHERASE 50,000 x 18 128 600
= A= 3,800,000& x12& 45,600
OF UG A 130,000& x198H x 12& 308,880
O"EFIHY| 659,840
-=p 6,598,395,000& /12 *120% 659,840
OS¢ &l 190,985
- S H
81,859,000 /128 78%*86%+*1/30% 122 1,831
-E=H
6,598,395,000% /122 x86%*1/30x12& 189,154
204 HR=HAH| 312,960 311,280 1,680
02 22 =4 312,960 311,280 1,680
OFEAS-APS 400,000& x 18 128 4,800
Ooaerd 250,000 x4 128 12,000
OFE - 155,000& x54H » 128 100,440
OLgs 140,000& »49H » 12& 82,320
OAg Al 105,000& 90 »12& 113,400
Jl23dl(AgSE3) 356,211 347,741 8,470
JlE2ztl 356,211 347,741 8,470
201 et 125,589 123,989 1,600
01 At 22l 118,089 117,989 100
OJle=+=EHl 25,019
Oo2g+¢ 51,700
-gag 51,700
OJles gl 41,370
02 =224l 7,500 6,000 1,500
Oz332= & HA 7,500
-REZsER 625,000 128 7,500
202 O4dl 109,532 109,532 0
01 = LH 4 1 109,532 109,532 0
OJl20Hl 109,532
203 YR =2t 58,290 58,020 270
01 JI122H =AY 12,200 12,200 0
O2gMHE 4,400,000& «1¥H 4,400
OQotM dIE & 1,300, 0002 6 7,800
02 et =& 6,910 6,640 270
OZX A& FH| 6,910

_42_




2N
X ZH -
L= B

el

A
EEEX-ET]

oT o

HEAR LY

(=}
=2 (A S

x

(BENRLYA)
=

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
04 EAN2I LRI 39,180 39,180 0
Ooagdmdg s . oged
250,000 *30H A+ 12 9,000
OS5 1192t M dl g 415,000& x 10 2 =12 4,980
OMBR11972 U, S0, 82, M8 [ E0l,25
350,000& *60 2 x 128 25,200
204 HR=HAH| 16,800 16,800 0
01 Mg 16,800 16,800 0
O2gMHE 400,000& 18 «128 4,800
OmH 100,000& x3H 123 3,600
OSNEHE, 2EHE 100,000& +7H 122 8,400
405 THebH S| 46,000 39,400 6,600
01 XL = ZH SHI 46,000 39,400 6,600
onerg axH 2,000,000 »6CH 12,000
O& XK= ALD| 6,000,000 *3CH 18,000
oA 600,000& *4CH 2,400
OZglgeoletel 2HESEDI
10,000, 0002 = 1CH 10,000
OogozAH 3,600,000 *1CH 3,600
HWRES(BFMEALYAM) 83,250 334,217 A 250,967
HWEHAXS(ALSHIIH) 83,250 0 83,250
WEHH K= 83,250 0 83,250
705 Ol==& el 34 83,250 0 83,250
03 Al - EXGHED I SH =S & 75,000 0 75,000
OF 119 MMEH &= 40,000
OER119tMHH A= 35,000
04 Al - EXISOHED| 30l == 0l Kk&F & 8,250 0 8,250
OR 119 M MY &= 3,000
OER119MHH A= 5,250

_43_



N & 0l & AF & E A A
20179 & 204 ASHESAH MK
SN BEABA
FM: FESHLAHIBRSE
cel: AUSSIE(ALSEIH) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
EFAYAM 14,140,862 13,707,115 433,747
= 97,187
N 5,100
< 14,038,575
HESTHALAYI|BIRS 2,617,030 2,489,791 127,239
= 97,187
N 5,100
< 2,514,743
L2EUESNA(LLSEIA) 1,634,869 1,606, 266 28,603
= 97,187
< 1,537,682
LAY FHALEH S 2 387,418 369,961 17,457
201 2et24d] 387,418 369,961 17,457
01 At 22l 1,200 1,500 A 300
O=28X A= 1,200
- 2H119tMHEH SR MER 1,200
02 =224l 386,218 368,461 17,757
OZ22223 ¥ HAl 208,776
—0EI FIIFA 120,000& = 1430H 17,160
- SHIIEAMZE 1,308
ZIIE A 63,000& x20= 1,260
HE Y TSIt HA 8,000& 6= 48
-83x FL 100,000 *15J4 2 1,500
-=%3 F& 1,000,000& = 127] x23l 2,000
—Hot+=ER3 8,710
-NIIe3 76,890
—SANARZ 12,000
-dE3l8= 14,652
- dSAES 24,060
-0lSde AEZ 55,000 x15CH x12& 9,900
—SAMNEREE S 5,500, 000& *23| 11,000
- N HE S H S 170 +3,737m 636
- &I BHE 1,400
=AM, tEHIH 150,000 *6IH 2 900
X< 50,000 * 1004 2 500
-~ USREYFES 350& *4,422 .55m’ 1,548
-SZJAHAAE 220,000& 12 2,640
—dojerE e = 297,660 123 3,572
-3JIE8I BIEBEAEE 400,000 »6CH 2,400
- SO0ISEEANAE AIES
55,0003 «8CH 128 5,280
- AS2HEHLSHLTI AIEZ
55,0003 x12CHx12& 7,920
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SA: EFAUA
X =

Ha: o

SNEAAYIYDE
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
U EE SNNSNAE ABE
70,000& 501 128 4,200
O¢zHl 38,595
-2 12,863
- Xz 5,599
— AP A D) 12,633
-FUAE AMSZH 7,500
OFM Al E 125,000 50 2+ 12& 7,500
OA&ZEHl s Xl 138,847
==l R INL:] 100,000& *23CH 2,300
- &==ZH SNE* 200,000& = 10CH 2,000
- QAT S HHI 23,000 »92CH 2,116
—sdAYEH| 110,000& = 11CH 1,210
-2HEE 350, 0002 »3CH 1,050
- 1195 &2 =&l 1,000,000 1AMl E 1,000
—HOUHBEAAM, SI15&I1 300,000 «6CH 1,800
- f4d=%X4 16,500
D8 I1K= 1,500, 000& *28= *6% 2,520
-0ls, 5032 1,000,000& »233= 6% 13,980
-S4, M 2RA22 300,000 «9H £ 2,700
—wEIFmi2el 71,745,600 *6% 4,305
—2aRx=AAE S 2el 232,033,330 6% 13,922
- S0SEEANAE S22k
1,000, 000& *20CH *6% 1,200
- dAEH R A 22 8,316
— E AMCCTVR Al 2t 2l 5,000, 000& *6IH 2= 6% 1,800
—19MEE20/8 FHIE=
250,000 =404 2~ 1,000
- 1ML 2AXEX B ZHES
100,000 » 1504 4 1,500
-11972 20 28 2eld |2
2,000,000 =54 2 10,000
- SHIANEZERI 2 55,440,000 *6% 3,327
- HMEAIIRI 2L 18,000, 000& *6% 1,080
-SEZSEHEHAY A2 5,000
- 4= R A4l 10,721
- EANELEY 46,000
LAY TE R A2 458,372 422,163 36,209
201 Yet2 | 455,872 411,863 44,009
02 =224l 455,872 411,863 44,009
O3 & HA 96,184
-ANsIAEE= 39,303
- XIHASSIAME 2,975

_45_




2A: A
=EE SIEEE
Ehel KN (ALSESH) ool E )
SN HH-S(BN) - MBAY - B il HlnE2
- 54 0] & 35,000 x32CH 23] 2,240
- 540 et 35,000 x21CH 13 735
-—ExXEFIUNE FEF2 7,180
DI Xt 1,300,000 = 1CH 1,300
EE=PN; 1,200, 0002 »2CH 2,400
& X xt 880,000& +3[H 2,640
83 420,000& »2CH 840
- 2UF(7015) EIIE A 18,452
— S Ko & 2 M &l Y| 1,166
- dE8 SN 27,108
O Xt & B | 359,688
-A858 4,350,000 »4CH 17,400
-=8s58 4,450,000& »2H 8,900
-=gs¥ 5,800,000 =4 CH 23,200
-AE3E 3,840,000 =8CH 30,720
-Hes= 7,500,000 = 12CH 90,000
-= i 7,510,000 »9CH 67,590
-E Xt 3,850,000 = 14CH 53,900
-28F(7018) 45,178,000 = 1CH 45,178
- QY R2EH(7028) 7,600,000 = 1CH 7,600
- HRAXTH (70358 ) 7,600,000 = 1CH 7,600
- olH2EH(706%) 7,600,000 = 1CH 7,600
405 XHobF S HI 2,500 10,300 A7,800
MU =EZFHSHI 2,500 10,300 A7,800
HEE bAoA 500, 000& «504 2,500
oy 97,187 114,697 A17,510
= 97,187
101 @124 dl 31,100 29,640 1,460
= 31,100
02 JIEH A B+ 31,100 29,640 1,460
AgtEx08 29 31,100
= 31,100
gr2 58,487 73,320 A 14,833
= 58,487
eyl 58,487 73,320 A 14,833
A9EXR0EY 29 58,487
= 58,487
202 O4dl 3,700 4,947 A1, 247
= 3,700
LH 04 H 3,700 4,947 N1, 247
A29Ex0E 2 3,700
= 3,700
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SA: EFAUA
X =

B HRBENAYIIUTS
BHEHSKIA(AUESESA) (e &)
M. o (BH) - HSAY - BAS ﬁlf& HDS2
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- MHHEd &5 & EHEI =4l 15,000
Oogxtz 2,400
-StHEd S234 X
300,000 »2CH x4 3 2,400
03 &Ar2 I 2,500 2,500 0
Oodg=x agsd 2,500
N 2,500
206 M= Hl 87,525 83,185 4,340
EN 2,100
< 85,425
01 =8l 87,525 83,185 4,340
OHTH & 2 A 3t oF TH 7,500
Ogggd=0tA3 200,000& 2574 5,000
Ogszs 20,000& 100 2,000
ON91Zx &= 20,000 = 1101 x523] 11,440
ONM97 gt stasd 15,000& x 1101 x153] 2,475
oozl SsSHXES
1,200,000& *11CH »23] 26,400
O1197 2l 2Z2Acla 2LEES
3,000,000& *2MI E 6,000
O=sgEadY =3¢& 50,000& x 104 500
OOHHEE FAIINE 80,000& +20MI E 1,600
OEIMNH 422 5,000& *5004 2,500
OsZ2430| 40,000& = 1004 4,000
OXNsSH A SII BHE el 880, 000& +5H 4,400
OXSHAMSI Al 2,860
OstMgle ¢t&itE X E 4,500
- A238HD| 25,0003 5001 23] 2,500
—H=328 ZXD| 20,000& 5001 23| 2,000
OFLAHE JI=LSANE B2 2,250
- 43| 25,0003 504 1,250
-—H=sZEE 22X 20,000& 504 1,000
O=tMALA THHAME ES 2,000
Odax=x 2¥4=Ed 83 2,100
EN 2,100
301 L2 A S 3,600 3,600 0
EN 500
< 3,100
09 &AL HI B &S 2,600 2,600 0
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FMN: HMEALEA
HE: HYBAAUI|HDE
Cel: S3USALHBA(ALSEFA) (&)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
Ol=2zed 4 NDEEEIN N d
7,000 1508 *23| 2,100
O3z A2Ed A XA 500
EN 500
11IIEtEA S 1,000 1,000 0
OAdd & WUHAE F3012+0 A
100,000& 10 1,000
405 TtHabF S| 27,890 42,150 A 14,260
01 AL EFSFHSHI 27,890 42,150 A 14,260
O3t & & &l 7,850
—AYSA 87,5003 x220 x22 3,850
-2 200, 0003 = 10CH =14 2,000
—SASHHEE 200,000& 104 2,000
OZe2xsSHHY 2E=3 10,040
OAZH 228 AHO0IH 5,000,000 *2H 10,000
FAMAEZHEZ 160,300 9,500 150,800
401 Al I 28I 160,300 9,500 150,800
01 A& HI 160,300 9,500 150,800
OHEES =4I MR &5 40,000
O=2AM 2HE=XMclAl&Z 0IH 22,000
OFOHel HoAlA 22,000
Ok g2 =4 NS4 20,000
OFtetorM I AEHIATHE D 36,300
O2Md == B2 WH3A 13,000
O¥Xuiz 24228 Wi 7,000
sggLAL 48,430 48,210 220
201 LB-2dH| 5,930 5,710 220
02 =224l 5,930 5,710 220
OAE ZHI S X 5,930
—agE=2L 20,0003 *593H 2~ *1/2 5,930
401 A& HI LS O b 42,500 42,500 0
01 A& Hl 42,500 42,500 0
O23d M4 4,000,000 *5H 2 20,000
O4std B 2,000,000& =54 A~ 10,000
O23d BSE 500,000 *109H 2 5,000
Oxst8s EXE 250,000 *300H & 7,500
CIE= PRI 601,820 610,115 ~8,295
301 et a = 601,020 601,315 A 295
03 S ALK& B 601,020 601,315 A 295
OPNIERSa-lg=, 77,960
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A MEaagA
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
Oo19agtsUs &I =4 7,000&«150H 1,050
O0elol 1198t0IE =M & IHAH 24
7,000& x400H 2,800
HESHAL (M AEA) 12,087,085 11,579,282 507,803
Pl 2AH|(ASEF H) 11,729,169 11,256,071 473,098
ol 2| 11,729,169 11,256,071 473,098
101 2121 4| 11,412,009 10,943,291 468,718
01 2 11,376,737 10,910,391 466,346
OdSH 81,859
-A8d 81,859
oez 6,765,307
- A8 6,765,307
== 4,504,500 x3Y x12& 162,162
A8 3,914,400& x156H «12& 704,592
=l 3,501,200 »44H «12& 1,848,634
CANEE 3,075,300& *59H x12& 2,177,313
A8 2,320,400 x40 « 128 1,113,792
A BEAF 1,806,700 x35 x12& 758,814
(OFSFart= 515,277
Oz 2,028,868
- A2t 2R 1,268,203
-2t 224 477,508
-5d224 283,157
OFMG 805,805
-dZ2xEota3 194,640
25E 0] & 130,000& 60 x12& 93,600
20 0] &t 110,000& x27H x12& 35,640
<1538 0 & 80,000& x20H x12& 19,200
10 0] & 60,000& *x35H x12& 25,200
5E 0] & 50,000& «35H x12& 21,000
- 55,061
-IEY 152,880
- Hi 2 Xt 40,0003 x145%H x12& 69,600
- A EHIS 20,000& 299X x12& 71,760
ohar2 11,520
-NEEHEXS 44 544
DESW(1ZX) 464,000 x24H 4= | 44 /544
-S4+ 11,880
-REZ22E 60,0003 x197H x 128 141,840
-RALPLE 30,000& x4H x12& 1,440
- St & =G 80,000& x197H x12& 189,120
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2N
X ZH -
L= B

el

NS IY

SH-HH . B(SH) - HBAMY - B2 il
—-E= St 3 14,400
O&FHZAHI 130,000& 197 »12& 307,320
OY&E SOt 6,765,306,000& /128 x60%*23] 676,531
O A I Al Y| 195,770

- SH

81,859,000 /12 x78%*86%*1/30* 12 1,831
-23M 6,765,306,000& /128 x86%/30* 12 193,939
03 I HLs2E NHE 35,272
Ottt 23 B 31,901
-8= 51,8803 x 1 %246 12,763
-A02 12,763,000& /122 *400% 4,255
-&J12% 12,763,000& *10% 1,277
— A2t =g 9,727 & *15Al 2tx 128 1,751
-t 51,880& *19 986
-F54 51,880& x105 5,448
-5d224 77,8203 14 1,090
- Y& SOt 300,000& 23] 600
= JbAHI X & Y| (12,763,000 /12 ) *80% 851
- SH| 110,000& = 12& 1,320
==l 130,000& *12& 1,560
Ogy3RE3 3,371
-2 E 31,901, 000& *3.06% 977
-AJRAEEH 977,000& *6.55% 64
-=0dAZ 31,901, 000& *4.5% 1,436
-188 31,901,000& *1.5% 479
- A HEE 31,901,000& *1.3% 415
204 D282 Y| 317,160
02 &2 &E xH| 317,160
(@FES=1PS] 400,000& x1H =12 4,800
(OFE == 250,000 »3H x12H 9,000
oagtd, 155,000 x59H x12& 109,740
Oaga 140,000& *59H x12& 99,120
Oagtw, A 105,000& x75H = 12& 94,500
EETHESTEEEP) 357,916
Jl2&H| 357,916
201 YEr2 Y| 121,689
01 AFR2t2l bl 118,089
(OPIR=E==2:] 25,019
ozg=s4% 51,700
-gA8Y 51,700
OPIE=T=2=3:] 41,370
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SN HELSA
o #y2YAY

©§el: D23 (AgSEI

i

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

02 3524l 3,600 6,000 A 2,400
O332=2 % HA 3,600
-REYSS 300,000& x12& 3,600

202 (4] 109,532 109,532 0

01 =S LHA YI 109,532 109,532 0
OJle0u ] 109,532

203 ¥R =&Y 55,190 53,990 1,200

01 J|22I P RF=XY| 10,900 10,900 0
OagME 4,400,000& =14 4,400
OPotH™ HIE & 1,300,000& x5H 6,500

02 RIS R = XY 6,910 6,910 0
O A& 2| 6,910

04 2SI L RF=AH| 37,380 36, 180 1,200
OCtFot M M H 365,000 10 A~ %12 4,380

O ,3tat IHE, SAHMME, H& P2
350,000 501 A~ =12 21,000
OA%HE HSIE, HLAHDY, SHIEY

250,000 401 A~ x12& 12,000

204 A 2 =2 F H| 16,800 16,800 0

01 S LRHAH| 16,800 16,800 0
O MNE 400,000& x1H x12& 4,800
On& 100,000& *x3H x12& 3,600
OMMEHAE, 2EUHH 100, 000& *7H x12H 8,400

405 XtakF SHI 54,705 18,900 35,805

01 AL 2B F SHI 54,705 18,900 35,805
Ol =EH 2,000,000& =5CH 10,000
OkLES=S 1,800,000& = 1CH 1,800
oA 600, 0003 =2CH 1,200
OM=RE 2Xt 400,000& *16H 6,400
olelg =& 400,000 *12H 4,800
OME D] 900, 000& =24 1,800
O 500,000& *2CH 1,000
OtMZaA 2HES 7,705
OUgloas nsg A L 9k 20,000

Wegs(MELSM) 40,500 180,577 A 140,077

WEHAHXE(ASSLEIH) 40,500 0 40,500

L chH 40,500 0 40,500

705 Oll=2 32| 2 4AE 40,500 0 40,500

03 Al - EXEHEI S0 ==J= 4 36,000 0 36,000
OFtAtt MM AlF 36,000
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RPN
HEZAAYIIU TS
AYBSNE (AYSEI )

SA - BB B () - MM - BES Ol &t o il 2
=2 M 400,000 100 A+ 122 4,800
OFM HI E 125,000 201 2+ 128 3,000
OAEZHI S X 108,677
- &I = X 100,000& = 120H 1,200
—QHE XS 23,000& *80CH 1,840
—sEAYEH| 110,000& »230H 2,530
-Z2HEE 350, 0002 »2CH 700
- 119K &2 | 1,000,000 *5MI E 5,000
—HHSEd M, SISEDI 300, 000& *6CH 1,800
-S4d3=71 6,030
JIX= 1,500, 000& *5= *6% 450
ols= 1,500, 000& *26= *6% 2,340
sU= 1,000, 000%54= *6% 3,240
-S4 HAEZ R R 2 300,000 #40H & 1,200
—watl| s X2 80,000,000 14! x6% 4,800
—2a2F=ANLE S 2e 232,033, 330%6% 13,922
- MAEH =X 22 8,100
— E AMCCTVR Al 2t 2l 2,038
c=2A 19,360,000 *6% 1,162
S R e = RS 5,300,000& *2H 2= 6% 636
- 3ol 4,000,000 x6% 240
-1 ABE20/8 FHHIE=
250,000 *50H & 1,250
- 119U RAXEX B ZHE=
100,000 *38H 2 3,800
-1197 20 2g2eld sX2el
2,000,000& «2J4 & 4,000
- =3 &4 wX2e 250,000& »230H 5,750
-2 E KA 11,517
—EANELEY 33,200
AURYRA 2L 194,193 155,604 38,499
201 Let24d] 174,893 155,394 19,499
02 =24l 174,893 155,394 19,499
Oz22= & HA 25,513
- XS XA 235,000 »4CH »13] 940
-ANsi BEE= 20,458
- XEASZAZE 1,155
5401 & 35,0003 +7CH+23] 490
54 0| gt 35,000& x19CH 13 665
- Sx=Itg ZLHEFH 2,960
=3X 1,200, 0002 = 1CH 1,200
8 I3t 880,000 +2H 1,760
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2N B2AUA
X =

M o

SNEAAYIYDE
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O Xt &k Bty 149,380
-AESE 4,350,000& =2CH 8,700
-=8s58 4,450,000& =2CH 8,900
-SESsE 5,800,000& =4 CH 23,200
- 4832 3,840,000& *2CH 7,680
-UHEs2 7,500,000 *2CH 15,000
-HEgsg 9,850,000& = 1CH 9,850
-A=Xt 7,510,000& *«5CH 37,550
--IOXt 3,850,000 =10CH 38,500
405 X+HaHF SHI 19,300 300 19,000
01 JtMt = S F SHI 19,300 300 19,000
OxteEg dlglAHolA 500, 000& *5H4 2,500
OMHGSEE XX &dIasE 84X 16,800
AEBX0HE2YH 69,326 100, 560 N31,234
= 69,326
101 @124 23,500 22,051 1,449
= 23,500
02 JIEt8 2 23,500 22,051 1,449
OagtgxXold 29 23,500
= 23,500
201 et A | 41,126 64,320 N23,194
= 41,126
01 AFR 2t 2l Yl 41,126 64,320 N23,194
OAagtE X0l 29 41,126
= 41,126
202 04| 2,700 2,159 541
= 2,700
01 2L Y] 2,700 2,159 541
Oagtgxold 29 2,700
= 2,700
203 ¥R =&H| 2,000 5,230 N 3,230
= 2,000
04 EANSHLRF=AH| 2,000 5,230 AN 3,230
OAagtgxXold 29 2,000
= 2,000
AEHEHAREX 401,270 398,690 2,580
201 et A | 107,910 108,270 A 360
01 AFR2t2l Yl 107,910 107,910 0
Oerd A =ZH| 32,000
ozg=+4¢ 3,720
—2AAE=E 3,120
MNENR 130, 000& *2H x4 3] 1,040

_68_




<

n0

Kio

Hl w

2,940
2,940

370

370

370

4,880

2,880

2,880

2,000
2,000

H3r
Wikd
RIS

2,000
2,000

282,360

282,360

6,060
6,060

42,510

42,510

42,510

Off &t 24

1,040
1,040
600
600
69,190
69,190

3,000
3,000

2,000
2,000
2,000

282,360

282,360

60,000
9,000
9,000
9,000
4,500
4,500

222,360

42,880

42,880
42,880
41,480

18,500

17,600
1,200
4,180

1,400
1,400

4,880

2,880

2,880
2,880

2,000
2,000
2,000

3

3

3

o x4
o x4

2

[und
e

2 x2

S
130,000
130,000

100,000%2% +3

108

=Y
=

2 %1

629,000

Ll

=
of)

H0
D0
<

3

[und

Rl x3CH *x2

e

500,000

t

Kl
KF
i[
ol

Kl
Kt

[og =]
= T

=
=z

03 Al

R0
o
30
R0
ur

Hx128

x50 128

=

=

[l

109

i

100,000
170,000

Sl
- el

405 XtatH

-,

00

o
i
iy

0

&0
1[3]
J
oll

30
0H
0]
H0

& <37H

=
=

500,000

EERNE=

&I

2|

=

=

-2x220

ok

KJ
A0
n0
)
<k
ur

109
%48
%1102

=
=

=
=

=Y
[l
[l

160, 000 *1
25,000
38,000%

N

ol

o)

ol
<0

ol
o)

Mo

2

A7) A %22

=

o

100,000

(KA

&0

ar
ol
KA
iy

0

80
1[3]
J
oll

el

01 At

<
Kio

[

aF

=
=

OAtZl

S

405 KHakH

Ho
Ol

KD

<
<

s
0
<d
ok

o]

<

<

_69_




SN B2AUA
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SANSALSEEL (ALEHSIHA) 561,750 585,525 N23,775
N 25,100
< 536,650
SAEssHM Y 94,720 146,190 A51,470
EN 5,100
< 89,620
201 £8-2d | 14,900 14,900 0
EN 2,500
< 12,400
01 At 22l 12,400 12,400 0
OF=gay] 10,000
- MHHEd £ & EHEI =44l 10,000
Oogxtz 2,400
-SIHEE=E2EHIYI 300,000 *2CH 43| 2,400
03 A2 S HI 2,500 2,500 0
Odaz=x ags=d 2,500
EN 2,500
206 M= Hl 62,950 51,820 11,130
EN 2,100
S 60,850
01 =8l 62,950 51,820 11,130
OSHH &2 A 3tk HI 7,000
Ogdegdr=0tA3 200,000& =304 6,000
gotzs 20,000& 100 2,000
O1971 & A= 20,0003 «5CH «523] 5,200
ONM97Zxt &asH 15,000& x50 x153] 1,125
o192l SsSHIES
1,200,000 501 23] 12,000
o197l S=+L8 WES
1,000,000 *1J4 & 1,000
Ol 22y 2IES
3,000,000& 2Kl E 6,000
OXSHAMSI Al 2,575
OFWM=AL 28 450,000& x2 Ml E 900
O=sdEd% Z=3¢E 50,000& %304 1,500
OOHHEZE FAIINE 80,000& x10MI E 800
OY&EMA 4222 5,000& *600H 3,000
OsZ2430l 40,000& 504 2,000
OH=Z=2d 2 XD g 2,000& 5004 1,000
OstMel=e 2tEitE XNE 4,500
- 23| 25,000 5001 x23] 2,500
—H=3d2&8 20| 20,0003 5001 23| 2,000
OFAHE JI=ALANE B2 2,250
- 23HD] 25,000& 504 1,250

_70_




&}

ur

o (] o o o o o o o o o
o o o o o o) [aV) [aV)
R 0 0 0 ® | = |-
~ 5|5 g g g ~
KIo < | <
E
E=)
o o o (=) o o o o o () o
o o o N~ N~ o o o N~ [aN] [aN]
© © o < < Yol o] [Ye) — ()] ()]
™ N — o |o o) o) o) ©
N N (<) ™ (<o) <
H3r
uilEd!
Pak=
o o o O o o O o o o O o o (&) (&) (&) o o o o o o o o o o O O o o O o o o O O o o (@) () o
o o o O o O O o (@] o O O o N~ N~ N~ Yo} o Al o o o o (e} o o O O o O O o o o O O o N < < <
S S -~ =lgw=ld = BB S SlAfdo N8 F OB g d®S|ISS38383(8 3 383538 S (NIS (S o
— [aV] [aNENaN} o o [a\] [aV] — — (ap) o <t — — < — N K0 O v 0 O wu ) o o O w o [0} — — —
-— -— O AN © O AN © [ee] ™ N N [eV] ™
ar
<
=3
< 4 4 4 U < <
= o] 30 W =E=s353 =
o Al o [eN) — © [eN] Y] —
L *o * = W o & 4*_ J*_
1] %wv = 0H S 8 5 &5 & 5
o 5 [Sl=) - ¥ © & S S
D e R 28 @ S8 8 8 -
-V P o 0 = 538 R 8E8 8 R
ey = o ol 5 S S M — S bl 0
. =8 =] 3 < >
N o o0 ~ - o [V
ol Kol = ol 5 & N o) —
—_ = — — IK
o* ) = 0k L = |
=1 Ho W . 0 TR
=3 Hio ) K0 R0 LA - ol
— 00 = — KO ~ ol &J
. ~ o L = - il > = g
= _ B4Y) EyY| s - oll — [0 RO
— = w0 _ ) o) — K e
= e ] oK 10H = — = — ] o -~ <0 _
n0< = 2 = ) KJ = <k W O [ — D
I O T LI TRy - ur = w1 Ao s 5 o @ -7 R
F M= 0 iH c TR < N s e = b 7 X ok
& 8 = K no H K K4 no & o [Ho oD iof Jo Hl ®OW K M o= A0 I+ S 3J o 0 | |Dd|T D
W =< r <0 - t 20 w0 ur (o = 30 RO~ 2 w1 KU+ H ok < <A |/ |80 |80 Ko
- ol = M H o no H 10 RFlok <4 @04 RIS T|D - T XD B O |z [ oK |OH W
il (| Bl =z i ~ ! r R TR A T T T YA (O VI o/ S ) B W W4 T Hi=< | |f <
RO O O all w5 O O ~ O K |rR O O O O Ol = =<z O O O O < |al|f O
. — o)) — [Te) — 3 — — Ro — al
o o — (=) o —_ o o - o o
H ™ < < < 10 N
I+ R0 4




SN B2AUA
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) (ol @)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
- A8E 22 20,000 1040 A %1/2 1,040
401 Al HI L £ 0HHI 37,250 45,250 A 8,000
01 A& HI 37,250 45,250 A 8,000
OAagtda A 4,000,000& *3H A 12,000
OAgdE 2,000,000& *x6IH A~ 12,000
OAastdBESE 500, 000& 104 A 5,000
OA23E24HEX 250,000& =150 2~ 3,750
OdladAzIdEE &X 1,500,000& *304 4 4,500
ogadtiiey 314,560 326,985 N 12,425
301 dEtE A= 314,560 323,285 NB,725
03 2/SAYUUAIABY 314,560 323,285 NB,725
[OPIERSa-ig=; 40,820
- NSsM 1,540,000 x5H 7,700
-UEM 1,840,000 x184 33,120
Ot 4 194,400
-olgag 36,000 #4509 *123] 194,400
o=l 40,500
— 2B 2| 90, 000& *4F x450H *25% 40,500
ogsidtl gs2xX 36,000& x450H 16,200
OIS A ESEX 20,000 x6H *123] 1,440
ocgagtly des 2 X 2,000
-g22z2os8adly 2,000
odgeogadtll 28 2534l
800,000& *1JHCHx12& 9,600
OFSogAYN 29 BSHY|
800,000& *1JHCHx12& 9,600
AESHALIR S 29,180 30,680 A 1,500
201 et A | 23,720 23,120 600
01 AFR2t2ldl 6,720 6,120 600
Ogt2H| 6,120
-0l StNMER uEl=z 4,000
—= XA A} 1,620
Ot S=¢< 300, 000& =44 1,200
EEROS 703 x65+1,0000H 420
- dHAMzE N 29 500
o994 600
—=S XA HAIRIR =Y
100,000& x2H 2| £ 2 400
—AHAMs AW MM
100,000& *x2H 200
03 S AIS H H 17,000 17,000 0
OBtHH 2 0] Agrot™ Al 4,000

_72_




SN B2AYA
IE: HESHASI|YRS
tel: E¥USAYAEL(ALSEIA) )
A =8B (3) - HRAY - BES il HlnE2
O19AgsUsl 3,000
oM dt 299 2,600
Ooeol 11980t = H 4,000
OdHAM=s ZAHS 1,800
OS2 A 1,600
301 L2 LS 5,460 7,560 A2,100
09 HALAHIE& S 5,460 7,560 22,100
Oagoly AL EItA =4 7,000& x150H 1,050
OotAIH 0] Aot A FIL S 4
7,000& x180H 1,260
O =2Ua Xt =4 7,000& 150 1,050
O0gol 1198t0tY =M EIHA =4
7,000& *300H 2,100
HP2IIH(B2LEAM) ,054,456 6,504,423 550,033
ol 2IH(ALsSdEs H) ,829,106 6,288,973 540,133
ol 2| ,829,106 6,288,973 540,133
101 @124l ,645,026 6,106,933 538,093
01 2= ,645,026 6,106,933 538,093
O =M 81,859
- AEH 81,859,000%1 81,859
OF-=F=W ,980,849
- AgH ,980,849
Aerd 4,292,300& *3H x12& 154,523
A9A 3,874,200& *x11H«12& 511,395
28 3,545,6003 x25%H x12& ,063,680
A= 3,176,700& 36K x12& ,372,335
EAR= g 2,320,4003 x23H x12& 640,431
A 8EAL 1,806,700&*11H «x12& 238,485
ORIttty 301,394
O=lz22aY ,071,130
—AzZte2f¢ 697,493
- 2fg 234,550
-522f+E 139,087
OFSL =, 482,520
-IIEE 87,600
i < Kt 40,0003 +x84H 128 40,320
A E = 20,0003 x175H x12& 42,000
Jreb2(1) 4,320
Jrer2(2) 960
- NESHEXESY 50,112
nssu 464 ,000& *27H *43| 50,112

_73_




2eAuA
HH2ARL (E2AYA)
ol (ALSE3AH)
H . ool () - NIRAY - B il
- Rt a= ) = 110,040
253 0| & 130,000& »20H «12& 31,200
- 20~25F 0] et 110,000& »29H » 12& 38,280
- 15~204 0] et 80,0003 x14H 128 13,440
- 10~15 0] ¢+ 60,0003 x16H 128 11,520
- 5~10& 0] et 50,0003 x26H x12& 15,600
-fEg2e*sg 79,200
4E 60,000 *110Y «128 79,200
- g 30,0003 x3H 123 1,080
-StME S 80,0002 *110¥ «12& 105,600
-3 48,888
OF05a =& 2,475,000 »40%*3H 122 35,640
O&EsHet3 500,000& x12& 6,000
OFHUZ A 130,000& x110¥ x12& 171,600
OHEFIHYI 3,980,849,000& /12 *60%*23] 398,085
OHIE 4| 115,949
- =M
81,859,000% /128 »78%*86%+1/30* 12 1,831
-22H
3,980,849,000& /122 «86%+*1/30* 122 114,118
204 XA Hl 184,080 182,040 2,040
02 g2 2l 184,080 182,040 2,040
Oaxe3d 400,000& x 18 128 4,800
OF3-14- 250,000 x3H 128 9,000
OFES -\ 155,000 36 «12& 66,960
OLgE 140,000& 36 128 60,480
O w, At 105,000 34 » 12 42,840
Jledul(AgsEE3H) 225,350 215,450 9,900
JIE23l 225,350 215,450 9,900
201 LB-2g| 92,370 93,470 A 1,100
01 At 2t 2|l 88,770 88,670 100
OJl2+=&Hl 13,970
ozg=4¢ 51,700
g3 51,700
OJ122 &l 23,100
02 3323l 3,600 4,800 A 1,200
O3 & HA 3,600
—Suds= 300,000& x12& 3,600
202 odl 61,160 61,160 0
01 = LH YI 61,160 61,160 0
OJI2nHl 61,160

_74_




SN B2AUA
B HLSAAY (B2ALN)
Sl IR (2SS CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
203 &R =&H| 36,420 36,420 0
01 J|22H L R=AH| 8,300 8,300 0
O MNE 4,400,000& =1 4,400
OOoHM HIE & 1,300,000& x3H 3,900
02 d 3 R =AY 4,300 4,300 0
OZ&E A& & H| 4,300,000 4,300
04 ENSIHRF=EY| 23,820 23,820 0
Oz HH 385,000& 10 A x12& 4,620
OT7YAOrAHIH 350,000& * 10 2~ x12& 4,200
O24HE HSAL, MYt K2 oM HIE,
B2 250,000& *500 A~ x12& 15,000
204 &2 = Z H| 13,200 13,200 0
01 MM R-HAY| 13,200 13,200 0
OAgME 400,000& x1H x12& 4,800
O& 100,000& *3H x12& 3,600
OMMEHAE, 2XUHE 100,000 *4H x12& 4,800
405 XH&HF S HI 22,200 11,200 11,000
01 AL 2B F SHI 22,200 11,200 11,000
OMelg2aEH 2,000,000& *2CH 4,000
ZHEEE 1,000,000 = 1CH 1,000
o1V 800, 000& =24 1,600
OMRE 2 Xt 400,000& *4 1,600
ool (& Z0l) 1,000, 0002 *2CH 2,000
OFdEE #¢ 4,000
OXt1d 227 2,000,000 =4CH 8,000
WRES(2248A) 61,500 61,095 405
LHEHH K= (ASSEFH) 61,500 0 61,500
WEAHHX = 61,500 0 61,500
705 Gl =22 2 A S 61,500 0 61,500
03 Al - EXYHED IS0 24 60,000 0 60,000
OB2AYAN A= 60,000
04 Al - SXEIHLI S0 =220 KHAHE 1,500 0 1,500
oBsAgM AlS 1,500

_75_




<

n0

Kio

Hl w

, 175,473

A

41,753

15,615

N 84,197

803

803

H3r
Wikd
RIS

9,203,173

1,512,349

1,038,489

315,566

230,566

230,566

g Al A

A
=

Off &t 24

8,027,700

r

91,970
75,100

7,860,630

<

H

1,554,102

fir

91,970
75,100
1,387,032
1,054,104

<

H

fir

91,970
70,000

892,134

<

H

231,369

231,369

231,369
123,474

3,600
1,160
630
450

80

900
2,000
6,804
45,700

12,960
19,200
5,940
3,540

301
650
300
350
2,640

160
2,849
1,200

140
3,960
7,260

Ol &b A

Al

x
50
<
]

o

L

o)
10
<
0
Ko

1BJ

ol
sl
ur
10
<

W
o
el
10
<

)

Ok

K0

ok

R0

fill
|

80
1[5}
J
oll

30
0H
20
HO

o
=
2
=
o
=

1 3004
10
10
10

o
=
2%
2l *
2 *

120,000
63,000
45,000

8,000

- RdIIEAE
- ZIIZ A

B *90H A&

100,000

<
R0
Ki

o
RO

3

[und

Rl x1J| %2

e

1,000,000

no

U
3+
5

190 ~128

=

o

55,000

FAFE

2

q|

-&lles

— K

2| %2 3

o
=

o0
I+

T

RO
il
|

[und

2 *1,765M

e

1,770,000
170

S| Hl

el

NgHESH

=

2 %20 A

D
Ed
RJ

X

il

=

A7 A

=

150,000
50,000

ol

PR

128

2l x

n
0
R0
Bd
3!
~0
{0
|

3
128
|

3

1
1

2l *
2l *
2l *

[ual

1«60+ 123

e

=122

2| %

o
e

[unl

150,000

140,000

220,000
237,380
AEZ
55,000
55,000

FEAAE

s
=]

0

i
00

il

<l

<0
KJ

<0
30

)
)

2,520

1«30« 123
- 76 -

=

o

70,000




N = 0l & At & M A

20174

H
i
2
z
k-
0z
Jm
ng
ton
x
gl
é

SN SHASN
=

B HRENAYIIUTS
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Od=Hl 30,793
-224 722 913 %110 »23L+7[H 12,803
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OAI& &Hl KX Hl| 77,102
==l I RPN ] 100,000& =144 1,400
-0 R X RZ A 23,0003 56 TH 1,288
- sSa A YA 110,000& =7 CH 770
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- 1197 &2 X &H| 1,000,000& x2A E 2,000
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OAgtE X0l 2 57,170
= 57,170
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AYUHHHADELX 380,668 395,118 AN 14,450

201 2Bt | 102,878 102,878 0
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o2g+¢ 3,720
-2 A=Y 3,120
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-=2dZAELYH 2,000
Odgossdly 2 24l
800,000& +3H CH+12& 28,800
OX=ds4 2l 28 2534l
800,000& 1JHCH+12& 9,600
LLANEY 28,580 39,590 A11,010
201 LBt2 23,120 23,120 0
01 AR 22| 6,120 6,120 0
o4l 5,520
-0elol dNEE WSl 4,000
—EXAEA 1,020
Ot S92t 300,000 »20H & 600
2RSS 420
-HHAdE s 23 500
o=2g=+¢ 600
—SXAYA AARETE
100,000& 2 204 £ 2 400
—dHAMs AW MM SE
100,000& =2 200
03 #A2EHI 17,000 17,000 0
OGHAHIOI 0] Agerd Al 4,000
o192 s2U 3 3,000
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SN SHEAYA
B BRENAYIIUTE
SR HISAYADY (ABSHEN) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o1gAadEc 249 2,600
Oooglol 1198tore =Xl 4,000
ONHAM= ZAWS 1,800
O XA A 1,600
301 dBtE A= 5,460 7,560 A2,100
09 HAIAHIBAZ 5,460 7,560 A2,100
Oagold AL LA 24 7,000& x150H 1,050
OdtAHI el 0] Agtotd Al Z=HILX =4
7,000& x180H 1,260
o192 2=z IR 24 7,000& *1509 1,050
Ooelol 11980t =M & IHAH 24
7,000& x300H 2,100
HHSIHU(SHAYA) 6,232,598 6,246,208 AN 13,610
Ol AY|(AMESEF H) 6,005,792 6,040,022 N 34,230
ol 2AH| 6,005,792 6,040,022 N 34,230
101 @121l 5,839,952 5,872,982 A 33,030
01 2 5,839,952 5,872,982 A 33,030
OdsEH 81,859,000& 14 81,859
O&ZH 3,463,490
— A gtA 3,463,490
== 4,444 8003 3P x12& 160,013
EAg=g] 3,874,200& x10H = 12& 464,904
= 3,501,200& x18H x12& 756,260
- AgrE 3,075,300& x28H x12& 1,033,301
Eng=1ami 2,250,400 »26H x12& 702,125
A gk A 1,806,700 x16H x12& 346,887
o83z2s+4 261,730
Oxh22E 996,591
- AN2HA2EFE 646,571
- 02224 219,725
-52422+E 130,295
O8H+Y 429,701
-tEx4 87,600
o < Xt 40,0003 *70H =12 33,600
MNAHE=HI S 20,000& *205H = 12& 49,200
S JRAEZ (1) 30,0002 x8H x12& 2,880
S JFAE2(2) 80,000& x2H x12& 1,920
- ANEEHEXH 464,000 179 *43| 31,552
- & 242 96,960
253 0] &f 130,000& x23H x12& 35,880
- 20 ~25E 0] Bt 110,000& *17H = 12& 22,440
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2N
X ZH -
L= B

el

e 2 Jyo
1Y 0 A
H0 MO B>~

oy
~

k>

02 08 0T
0z o
Jm
u b

I 0T
X x>

=5
=

SA-EHH .o (3H) - NEAY - BAS il HZS2
- 15 ~20E 0] B 80,000& *11H x12& 10,560
- 109 ~154 0] Bt 60,000& *19H x12& 13,680
- 5E~104 0| 2t 50,0003 x24H x12& 14,400
-fEz2fs4 60,000& 1028 »12& 73,440
-0IAALR S 30,000& *3H x12& 1,080
-t 80,000& 1024 »12& 97,920
-HRBRIY 24,810
-S54y 9.739
-QEHIRFALGY 50,000& x1H x12& 600
-ESIha 3 500,000& *12& 6,000
O&FHZAHI 130,000& 1029 »12& 159, 120
OY&E S| 346,344
-E=2H 3,463,431,000& /128 *60%*23] 346,344
O A2 AtY| 101,117
- SH
81,859,000 /12 x78%*86%*1/30* 12 1,831
-E=2H
3,463,431,000& /122 *86%*1/30% 12! 99,286
204 &2 = F H| 165,840 167,040 A 1,200
02 =28 xH| 165,840 167,040 A 1,200
(@FEAS=1PS) 400,000& x1H x12& 4,800
(OFES=10= 250,000& »3H x12& 9,000
Oagtd <l 155,000& x28H x12& 52,080
(OFE3=1PS] 140,000& x28Y x12& 47,040
Oagtn, Ab 105,000 x42H = 12& 52,920
|[2ZH(AUEESIAH) 226,806 206, 186 20,620
Jl23Hl 226,806 206, 186 20,620
201 et A | 89,674 90,774 A 1,100
01 AFR2t2ldl 86,074 85,974 100
OJle+&Hl 12,954
o294 51,700
— G RAG 51,700
OPIE=a=3=3:| 21,420
02 =294l 3,600 4,800 A 1,200
O332=2 % HA 3,600
-REYSS 300,000& x12& 3,600
202 (4] 56,712 56,712 0
01 2L Y] 56,712 56,712 0
OJI20 bl 56,712
203 R =&lY| 32,000 31,900 100
01 J|22I P RF=XY| 7,000 7,000 0
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SN SHEAYA
B AHSAAL (SHAYN)
ool D2 ALl (LAY SEs) CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O NE 4,400,000& =1 4,400
OPot™ Ml & 1,300,000& x2H 2,600
02 d R R =AY 4,060 4,080 AN 20
OZ&E A& & H| 4,060
04 ENSI IR =Y 20,940 20,820 120
O= 21192t ™ Ml H 395,000& 1 A x12& 4,740
OFA1190H N Ml EH 350,000& * 10 2~ x12& 4,200
O2ddF 2L+, 0gdord sH 2N
250,000 #4042~ x12& 12,000
204 &R~ A H| 12,000 12,000 0
01 S R-HAY| 12,000 12,000 0
OagME 400,000& x1H x12& 4,800
O & 100,000& *3H x12& 3,600
OCtd My, 2 EHE 100,000& 39 x12& 3,600
405 XH&HF S HI 36,420 14,800 21,620
01 AL 2B F SHI 36,420 14,800 21,620
OMel2a#EH 2,000,000& *2CH 4,000
OXNgH sM=X 23 2,300,000& 34 2~ 6,900
O3lolal A L oXt 20,000
OZ2AM M D] 1,000,000& = 1CH 1,000
OTV WXl 800, 0003 =44 3,200
OFALMEEH AEMHE 1,320,000 x 1Al E 1,320
WSS (SHAYA) 241,000 1,444,616 ~1,203,616
HEHAH XS (AL SEEZH) 241,000 0 241,000
WEHHX = 241,000 0 241,000
705 Oll=2 32 24aE 241,000 0 241,000
03 Al - EXEHEI S0 ==B =4 205,000 0 205,000
OsELYAMN S 205,000
04 Al - SXEHED | S0 220 XHAHE 36,000 0 36,000
O=sdLYUMN A= 36,000
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23,667
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8,375,351
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g Al A
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=

Off &t 24

8,638,789
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<

5,100

8,556,116

H

1,846,321

fir

77,573

<

5,100

1,763,648
1,294,411

H

fir

77,573
1,216,838

H

301,080

301,080

3,594
3,594

900
2,694

297,486
166,130

6,960
648
378
270
700

2,000

10,000
80,000

12,856
19,200
7,260
4,600

804
750
300
450
3,036
3,336

Ol &b A

Al

x
50
<
1o
80

L
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<
0
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1BJ
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sl
ur
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<

W
o
el
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<
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el

=]
ok
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=
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KAl

ok

no
o
M0
M0

2
=

)
=

1 5804

e
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e
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=
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63,000
45,000

120,000
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- SXIZAE
I A

-0 EJ
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=
=

<
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o1
RO

3

[und

Rl x1J| %2

e

1,000,000

no

U
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o

1O =128

=
=
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e

55,000

-&dlles=s

2 +23]
1702 +4, 7261

ul
I+

T

R0

,_2\_

=

2«9 A

[unl
=

A *200 A

e

2,300,000
150,000
50,000

5| Hl

el

A MHE S H

128
128

2l x

253,000

It
al
&0
&l
oJ
"0
400

1,200
4,620
3,960

2l %3 CH
- 86 -

=

2 %
o

7O <123

1«60+ 123

400,000

278,000
SEEANAE MBS
55,000
HHE &I At E
55,000

0




I 70,0002 *5CH + 122 4,200
Ol gl 31,986
-2y 722,912 %1102 *17L*10CH 13,519
XDy 722,911 %1102 *17L20H 2,704
— AFR Al L] 722,912 %1102 *17L70H 9,463
- PUAY FHAEH 6,300
=M 400,0002! * 10K 4 + 122 4,800
or M Ml Ef 125,0002! * 104 4 + 122 1,500
OA & ZHIR X I 99,370
e PPV 100,000 *19CH 1,900
- g ERZHY| 23,0002 *56CH 1,288
- s AY Iy 110,000 «7CH 770
-QEHE2E 350, 000! *3CH 1,050
~119R &P EF | 1,000,0002! x2Al £ 2,000
~OOIBE2AM,BISXI 300,0002 <4CH 1,200
- 2EI RN 9,720
Ink=ISIPYE 1,500, 00021 * 122 %6% 1,080
V= 1,000, 0002 * 144 +6% 8,640
S FEAHMRRTBR 300,0008 <20 A 600
-negxee 22,000,000 *6% 1,320
—AZAEANLE tel 232,033,330 *6% 13,922
- HAZHIRK B 7,476
~ HACCTVRAI 22l 5,000,0002 =20 £ x6% 600
-9 T 08 Y24
250,000 1174 £ 2,750
—1194r0H 9| X E X bl 4
100,000 317 £ 3,100
119720 2P ey RX 2L
2,000,000 +3H 2 6,000
~ A2 RN 13,424
- HAEASS 28,050
-2+FIAL fsne
350,000 * 1 4 + 122 4,200
LUK 2L 318,951
201 Ypre | 291,711
02 ZZ 2| 291,711
ozzez 2 MA 67,601
~ XS R 470,000! *8CH =13l 3,760
-Nsx 2EE 58,706
-HBASBAR 1,855
5014 35,0009 *12CH %23 840
50] 8t 35,0009 *29CH *13| 1,015
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SN YSAYN
B HEEAAYIINTE
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
-S=aXg FUNEFAZ 3,280
=2t 1,200, 000& »2CH 2,400
Xt 880,000 = 1CH 880
OXt& & Bl 224,110
-AESEE 4,350,000 = 1CH 4,350
-=S8s8 4,450,000& »2H 8,900
-ME(ER) 3,950,000 = 1CH 3,950
-SEs¥E 5,800,000 *3CH 17,400
-AE3E 3,840,000 »5CH 19,200
-Sests 4,040,000 = 1CH 4,040
-tHegsas 7,500,000 »9CH 67,500
=P 7,510,000 =7 CH 52,570
-—EZXt 3,850,000 = 12CH 46,200
405 XtabE SHI 27,240 16,390 10,850
01 AR ESFH S 27,240 16,390 10,850
OAXE HIHHIS 7,740
OMHE & X2 Xeg dAaae X 16,800
OXgE s A 400,000& *3H 1,200
OXgs uldlAolE 500,000 *3H 1,500
A2EEXERY 77,573 93,227 A 15,654
= 77,573
101 14l 23,200 21,840 1,360
= 23,200
02 JIEtE B = 23,200 21,840 1,360
Oagt8xold 29 23,200
= 23,200
201 £8-2dH| 50,573 62,880 A 12,307
= 50,573
01 At 22l 50,573 62,880 A 12,307
Oaggxod 29 50,573
= 50,573
202 oddl 1,800 2,627 A B27
= 1,800
01 = LH o4 1l 1,800 2,627 AB27
Oag8xod 29 1,800
= 1,800
203 ¥ S =&l 2,000 5,880 A 3,880
= 2,000
04 FENSELR=LH| 2,000 5,880 A 3,880
Oaggxod 29 2,000
= 2,000
AHHIHRFA 548,598 410,132 138,466

_88_




o |o o |o o © |© o |o ©o [ o |w©
O | o © |© O |5 - | = |=
~ ™~ NN 0| NN
o g8 |29
KIo T
E|
=)
N EN o |o o |o o |o o | o |m
S | o S | o o | @ O | B o |9 |o
& | & S | o | © o | & | |
o |o NN N RN < | < ~ NN
wa | 818 & (& S1E SN S
)
il
RIS
Al [eN] o o o (@) (@) () o o [QN) [oN] o o o o o o o o o © © © o o o D D D D o o Yo} < o o
0l & & & F T I & S H »H S S|l ol &S ||l ©o|lod|lea sl s|c & S 5] S S S
Qle @~ - <2 Qe © 0 09 Q9@ 9olY v §¥ NI Ao e 9NN 9o v N - N A
© [0 o ®» o — - N N o o ||l V||l o|lol|leo ol | —|o|o|lo N < ~ - < - -
S| » S © SloN =] o|—|— —|F|JF|F F Q -
= | = ISRV N I I
ar
<
=}
o} ol o} o &0 oy oM o a0 a0 g0 &0 o}
< <~ < ™ © al RN @ © 0 © l
X X x ¥ S X il Y =4 ¥y 2 A*._
&0 30 30 30 * [} = * =
ar ¢ ¥ ¥ wm 9 g T awale =
X0 ® W o O 8 ] ¢ 2 8 8 W8 8 ?
o o o o S o o X - (S - O s
BJ S S S S - S U - o - o - [0
S S S S o) S o oY S o q o
5 . . < . & - S o Ire} © D S
3] S W 3 3 © IS < 8 - S
al 2 ye =2 s S S =< o 8
o* — z 0 n
— 0 ) o1
B3 < "
. . ~ < o)
— 00 or 5 = &0 ok H
= <k = = = 7 " u ol
o 3 . < _ " =@ I
= 0 4] Kk . ) - ) .mrm M S
s ok ok ES) 5 ~ nl ~o
i o | D o} [0 o | al R0 I+ D . | |D M0+ & = o
R 80 (O [} 10 K| K] OF ok uir 0. 0 | B0 [80 O K4 <F K o
= 00 | /Y oF <4 Kk | KE oD o |D KR = | O[O HO - wr 0b Ok
il o) |OF [ [ oF | & 0 w | Ed o I = L 5 U B I Mo
RO ol | < 3| =< RC(ur < | < = O™ o | O O
. — | = ® | » < | » — | = To) H|— |«
z |8 g1 |&|8 2|15 |8 0|8 (5

<1

_89_




SN YSAYN
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SANSALSEEL (ALEHSIHA) 551,910 535,485 16,425
A 5,100
< 546,810
SAEssHM Y 128,780 108,215 20,565
A 5,100
< 123,680
201 £8-2d | 16,100 16,100 0
A 2,500
< 13,600
01 At 22l 13,600 16,100 A 2,500
OF=gay] 10,000
- MHHEd £ & EHEI =44l 10,000
Oogxtz 3,600
-SIHEE=E2EHIYI 300,000 *2CH x63] 3,600
03 A2 S HI 2,500 0 2,500
Odaz=x ags=d 2,500
EN 2,500
206 M= Hl 73,630 63,145 10,485
EN 2,100
S 71,530
01 =8l 73,630 63,145 10,485
OSHH &2 A 3tk HI 6,200
Ogdegdr=0tA3 200,000& 2574 5,000
gotzs 20,000& 601 1,200
(ORRICELESE= DUEES 20,0003 +8LCH 523 8,320
ONM97Zxt &asH 15,000 »7CH x153] 1,575
o192l SsSHIES
1,200,000 *7CH 23] 16,800
Ol 22y 2ZES
3,000,000& +3MI E 9,000
OXsSHASI| dHE el 880,000& *2H 1,760
OXNSH A &SI IHX 3,325
o197l S=+74L8 WES
1,000,000 14 & 1,000
OM9REASUE ZSLX A2F
300, 0002 =8CH 2,400
O=zsdEd% Z3¢E 50,000& 204 1,000
OOHE =AM ME 80,000& 15K E 1,200
OEHIEMH A2F 5,000& 4004 2,000
OsZ2430l 40,000& *50H 2,000
OstMgle ¢ditE XE 4,500
e 25,0003 5001 23| 2,500
-—H=SZEE TR 20,000 5001 x23] 2,000
OFALAHE JI=AEANE ES 2,250
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SN YSAYN
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
—Ag=E a2 20,000 187 A +1/2 1,870
401 Al HI L £ 0HHI 42,000 42,000 0
01 A& HI 42,000 42,000 0
O4gd MM 4,000,000& *3H A 12,000
OAgd B 2,000,000& x5 A~ 10,000
OAstd BES5E 500, 000& 204 A~ 10,000
OA23E24HEX 250,000 100 A 2,500
OdladAzIdEE &X 1,500,000& *504 A 7,500
oAty 310,480 320,430 A 9,950
301 dEtE A= 310,480 319,630 A9, 150
03 2/SAYUUAIABY 310,480 319,630 A9, 150
[OPIERSa-ig=; 35,600
- NSsM 1,540,000 ~4H 6,160
— [ sHa 1,840,000& *16H 29,440
Ot 4 172,800
oA 36,000& *400H *123] 172,800
o=l 36,000
-t s 90,000& 45 x400H *25% 36,000
Oz Al g2=sE2X 36,000& *400H 14,400
OIS A ESEX 20,000 x7H 123 1,680
ool des 29X 2,000
—dszodsadly 2,000
oNgogadll 29 &Yl
800,000 5 CH =12 48,000
AESHALIRH 28,580 35,680 AT7,100
201 et 23,120 23,120 0
01 At 22l ] 6,120 6,120 0
Ogbt=2H| 5,520
-0glo] tN=EE NS 4,000
— S XA A 1,020
Ot s=¢< 300,000& #2204 A~ 600
EEROZ 420
- MHAME N 29 500
osg9=+4 600
—ETAEA HAIREAY
100, 000& *2H 2 £ 2 400
- AHAMEs HANE MARALE
100, 000& »2H 200
03 A2 H H 17,000 17,000 0
OGHHAIH 2 0] Aot Al 4,000
OoOM9Ags2U3 3,000

_92_




S A 2 A
= NPT
el SagBY(LYSHIN) SREED
MY . B (3H) - NEAY - BAS ofl &k o San HDE2
o1gAadEc 249 2,600
OOWelol 1198t0te = A 4,000
MHAM= ZAHUS 1,800
O XA AL 1,600
Qotg A =2 5,460 7,560 A2,100
SHALAHIE A2 5,460 7,560 A2,100
Oagtold AL EILA S A 7,000 x150H 1,050
ObdltAH 2l 0] AgtordM A EHIOLX S A
7,000 x180H 1,260
O19agtsUa &IIA 4 7,000& 150" 1,050
Ooelol 11980t =M & IHAE =4
7,000& x300H 2,100
HESHALH (EsSAYA) 6,524,718 6,217,029 307,689
Ol AY|(AMESEF H) 6,311,994 5,956,255 355,739
ol 2AH| 6,311,994 5,956,255 355,739
101 2121 4| 6,138,414 5,786,875 351,539
01 2 6,103,024 5,753,602 349,422
OdsEH 81,859
- A8A 81,859,000 *1&H 81,859
OdZH 3,602,510
- A8E 3,602,510
== 4,411,800 »3% x12& 158,825
A8 3,831,800& x10H x12& 459,816
= 3,501,200 x19H «12& 798,274
A=y 2,963,200 »27H «12& 960,077
Eng=1am} 2,250,400 »32H «12& 864,154
A BEAL 1,882,100& x16H x12& 361,364
o8zs¢ 274,064
Oxlhz22LE 1,050,982
- A2t 2244 681,492
-2+ 231,947
-5d22E 137,543
O&dH+Y 443 431
- ExY 97,320
il < Xt 40,0003 x82H = 12& 39,360
AMNAE=H S 20,000& *212H x12& 50,880
JRAEZ (1) 30,000& 9% x12& 3,240
JbAES(2) 80,000& x4H x12& 3,840
- NMEESHEXLS 464,000 *199H *4 3] 35,264
- d 223 98,160
254 0] &f 130,000& x27H x12& 42,120
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SR
HYSHA (ISLSN)
AHEL2IH (AL EEZH)
SA - FB B (B) - KRAY - A2 Of & 24 il
- 209 ~254 0] Bt 110,000& 15« 12& 19,800
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oaerd 250,000 x3YH x12& 9,000
OFE - 155,000& 23 «12& 42,780
OFS-\S; 140,000 = 18H »12& 30,240
OAg Al 105,000& »27H «12& 34,020
2Bl (AESESIH) 207,443 175,743 31,700
Jl2zl 207,443 175,743 31,700
201 L2l 79,227 80,327 21,100
01 At 22l 75,627 75,527 100
OJ12=&Htl 9,017
ozg=4¢ 51,700
-gasg 51,700
OJles gl 14,910
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OagME 4,400,000& =14 4,400
OPotH™ HIE & 1,300,000& x1H 1,300
HIA AP R =Y 2,840 2,840 0
O A& 2| 2,840
EN2IHRFE| 16,200 16,200 0
O2ddd s, 0™ SH2IH
250,000 *4 1 A~ x12& 12,000
O HlH 350,000 1 A~ x12& 4,200
A2 FH| 10,800 10,800 0
MBS HIRHFH| 10,800 10,800 0
O2gNE 400,000 x1H x12& 4,800
On& 100,000& *x3H x12& 3,600
OMMHAE, 2X2UHE 100,000& *2H x12& 2,400
INFSE=E=N] 53,200 20,400 32,800
ML EEFSHI 53,200 20,400 32,800
OHelg ZBEH 2,000,000& =4 CH 8,000
OkLES 1,800,000& = 1CH 1,800
oxZgd 700,000& = 1CH 700
O& XK= AR 6,000,000& *x2CH 12,000
O LtE D] 3,000,000& «2CH 6,000
oA 1,000, 000& *2CH 2,000
o1 800,000& *3CH 2,400
OARE =4 400, 0003 =504 2,000
OMRE 2 Xt 400,000 »22CH 8,800
Onalg tXE aedate 3,000
OtXgd&so| 250,000& =10CH 2,500
OWXFEAHE =2t22| 500, 0003 = 1CH 500
OAIE AJIMADI WA 3,500,000& = 1CH 3,500
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M FESHLAYIETS
cel: AUSSIE(ALSEIH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—APR A HED] 1,363 x110 220 x10CH 32,985
- FUHAY FHAHZ 4 3,000
Ot& Ml 125,000 200 A+ 12& 3,000
OA&ZEHl s X bl 103,338
- &I X 100,000& »26CH 2,600
- 225 23,000& +700H 1,610
—sdAYEH| 110,000& »20CH 2,200
-2HEE 350,000 »2CH 700
- 1192 &2 =&l 1,000,000 1AMl E 1,000
—HHSEdM, SIS 300,000 7 CH 2,100
- f4d=%X4| 10,110
DEIJIX= 1,500,000& *11= *6% 990
Ols,sl= 1,000,000& *152=2 6% 9,120
-S4, ML ZRA 22l 300,000 <504 & 1,500
—watl| s X2 22,000,000 *6% 1,320
—USFAAE S22l 232,033,330 *6% 13,922
- MAEH =X 22 7,836
— E AMCCTVR Al 2t 2l 5,000, 000& *3H 2= 6% 900
- 19MEE 20|88 FHIE=
250,000 *5H A 1,250
- TOM LR XEX 2 ZHE=
100,000 *2H 2 200
-9 S0 g2l 2el
2,000,000 =4CH 8,000
-E=ZF &4 |2k 250,000 =44 1,000
aR=—2 s DNN=] 9,090
- ENEALES 32,000
- =ZStAERE 2 6,000
LAY TE R A2 225,641 228,833 A 3,192
201 Let24dH] 225,641 215,550 10,091
02 =24l 225,641 215,550 10,091
O3 % HA 51,261
NE=PN| 470,000& 501 =13 2,350
-Nsi BEE= 43,041
- XEASZAZ 1,610
54 0] & 35,0003 = 17CH *23] 1,190
54 0| gt 35,000& x12CH 13 420
- SEx=Itg ZLIFHE 4,260
- DIFXE 1,300, 0002 = 1CH 1,300
=2 X 1,200, 0002 = 1CH 1,200
Xt 880,000& »2CH 1,760
O Xt & Byl 174,380
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SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-AEEE 4,350,000 *2CH 8,700
-SEsE 4,450,000 = 1CH 4,450
-Egss 7,200,000 «1CH 7,200
-SESsE 5,800, 000& =2CH 11,600
-HEgsg 9,850,000& «1LH 9,850
-AESE 3,840,000& =2CH 7,680
-SE32 4,040,000 = 1CH 4,040
-gs 2 7,500,000& *6CH 45,000
-2 X 7,510,000& =6 LH 45,060
- Bt 3,850,000 *8CH 30,800
AtEX0IA2H 93,298 101,600 N 8,302
= 93,298
101 @121l 34,300 25,500 8,800
= 34,300
02 JIEt& B % 34,300 25,500 8,800
OAaggExXodEd2d 34,300
= 34,300
201 Bt A H| 51,298 71,200 A 19,902
= 51,298
01 At 22l bl 51,298 71,200 A 19,902
OagtEXodEd2Y 51,298
= 51,298
202 04d| 5,700 3,400 2,300
= 5,700
01 2L Y| 5,700 3,400 2,300
Oagg8xodEd2d 5,700
= 5,700
203 ¥ R =&XH| 2,000 1,500 500
= 2,000
04 2SI L RF=AH| 2,000 1,500 500
OAagE XA 2,000
= 2,000
AYHEHARDEX 589,467 446,467 143,000
201 Yet2 | 116,087 116,087 0
01 At 22l ] 116,087 116,087 0
OgdetE A =EH| 32,000
o294 3,720
-2 ANE 3,120
AEN= 130,000& *2H x4 3| 1,040
IR XLSSHANE
130,000& 2 x4 3| 1,040
A A 22 WNE 130, 000& *2H x4 3] 1,040
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HAHAA 100, 000& *2H x33] 600
o=l 77,367
- A3 2A 629,000& 123 77,367
ogxts 3,000
-=2J|=2d Xt 500, 0003 *3CH *23| 3,000
AR =AY 2,000 ,000 0
ANBFEANARE 2,000 ,000 0
O2LARE=X 2,000
A2 FH| 316,080 ,080 0
SEHYREHI 316,080 ,080 0
OFRxFZE=H| 100, 000& x56H x12& 67,200
Ogs&st| 170,000& x122H 128 248,880
A &Y Y2 133,000 0 133,000
Al &l 133,000 0 133,000
O™ WEI| Wi 133,000
INFSE=E=Ns] 22,300 ,300 10,000
NALEEFSHI 22,300 ,300 10,000
OMg eI 2 13,300
o2 &HdlF 9,000
-2l H 2| 4,500,000 *1CH 4,500
=P 4,500,000& = 1CH 4,500
BA=SX a4 48,604 ,283 321
282 A 48,604 ,283 321
=329l 48,604 ,283 321
o222 ¢ 47,204
e = 500,000& *43H 21,500
= EETE =)
160,000& *123H 19,680
—-SHEEES 119722 U3 HaMAEH
25,000 x54H 1,350
-2dANEE = 38,000& x123H 4,674
O3FREE Uae=z ull 1,400
- X Y| Abck 100,000& *7JH 2~ %23 1,400
gXxos 2 (KAl 8,640 0 8,640
282 A 8,640 0 8,640
AP 22| bl 8,640 0 8,640
OMI=ERA 8,640
Aubed g2 (A 697,060 569, 364 127,696
A 55,100
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A 2E 20,000& *60 & 1,200
(ORRI =N A= 20,000& *6 0 *523] 6,240
OIS dAS A 15,0002 *6CH *153] 1,350

oM 2l ssHIES

1,200, 000& *6CH 23] 14,400
Oozgae|a 2HEE 3,000,000& x4 Al E 12,000
OXsSHMASI BHE 2l 880, 000& *24 1,760
OXNSHASI WX 4,180
OFUMFAIERH 450,000 *2AH E 900
Osdgda Z3¢E 50,000& «109H4 500
OL0HZ FAIIME 80,000& 5K E 400
OYEMAHA 223 5,000 *400H4 2,000
O=2Z4aS)| 40,000& *50H4 2,000
OFMele oMot E NE 4,500
— A3 25,000& *500H *23| 2,500
- H=328 20| 20,000& *500H x23| 2,000
OFAHS JIxME J=A2UANEES 2,250
— A 35HD] 25,000& *50H4 1,250
- SESHAEE 20| 20,000 x50H 1,000
O3tMAe THAME ES 2,000
O2Z27X AUSHES 2,100
S 2,100

301 et A= 3,600 5,700 A2,100
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SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
A 500
& 3,100
09 HAIAHI EA =S 2,600 4,700 A2,100
Oo2a2xxsd & MUHESEEEIIL XS
7,000& x150H x23] 2,100
O2da7x Aadt=d HFILAAIA 500
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1M IIEtE &2 1,000 1,000 0
O2dadyd L HHEE 7=012-00 ATH
100,000& =104 1,000
405 XtakF SHI 92,200 21,900 70,300
o~ 50,000
= 42,200
01 A&t =S F SHI 92,200 21,900 70,300
O3 & 2 & H| 6,900
- ABSA 87,500& x 120} »2= 2,100
- & 200,000& = 12CH *24 4,800
OUsA A8EaHE oHAEY| 8,000
OoxrxggL 2,000, 000& =44 8,000
O32I8&D] 50,000, 000& = 1CH 50,000
A 50,000
Odlcsde 140,000& *60H 8,400
OJjolotd &2 2t st 300, 000& =34 900
OAagtdd 222 24014 5,000, 0003 *x2H 10,000
HAMAIEEHH 2L 182,270 132,834 49,436
401 Al HIL 200 182,270 132,834 49,436
01 Al &bl 182,270 132,834 49,436
OFZHIA A cl2 L ZA 30,000
OCCTV & Xl 3 At 22,000
OMHIZU 208 clZEd SA 47,000
OXNAEIZZU =SsSUIIA 22 B A 10,000
OFA SHEA WA S A 9,000
OLED & Xl S At 30,900
OGatHlY 2493 Ol &AXI3 A 10,000
OZdlld 2 WX3A 3,000
OBIAUIIZ22 =4 EXI3SA 20,370
AEtE AL 22 40,030 40,030 0
201 LEr2 Y| 2,280 2,280 0
02 332494l 2,280 2,280 0
OA & &Hl S XY 2,280
- A8E 22 20,000 x2280H A %1/2 2,280
401 Al HI L £ 0HHI 37,750 37,750 0
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SN AEAYA
B HEEAAYIINTE
SR HISAYADY (ABSHEN) (29 a8)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
o1MAgs2Uls 3,000
o1gads 29 2,600
Oolelol 11980t = Hl 4,000
OdHAMz= ZAUS 1,800
O A A} 1,600
301 dEtE A= 5,460 7,560 A2,100
09 HAIAHI EA= 5,460 7,560 A2,100
Oagtold AL EILAH 4 7,000 x1504H 1,050
OdtHH 0] Aot A FIHIF S 4
7,000 1804 1,260
Oo1oagtsUls &ILAF 24 7,000& *1509 1,050
OO &ol 119st0td s H &ILA 24
7,000& x300H 2,100
IS (NAFLYN) 7,568,735 7,116,487 452,248
Ol SAH|(ALSE S H) 7,306,666 6,845,868 460,798
ol 2 A 7,306,666 6,845,868 460,798
101 2124 1| 7,104,886 6,649,548 455,338
01 B 7,104,886 6,649,548 455,338
OdEH 81,859,000& 14 81,859
OdZH 4,234,313
- A8E 4,234,313
EAR=l= 4,475,100& 3P x 128 161,104
A8d 3,914,400& x11H = 12& 516,701
= 3,587,900& *30H x12& ,291,644
A=y 3,021,000 *32H x12& 1,160,064
g 2,101, 700& x25H = 12& 630,510
A BEAL 1,882, 100& *21H x12& 474,290
o8zs¢ 333,943,000& 333,943
Oz 1,208,270
- AN2A2E2+E 780,712
-2+ 268,400
-5d2RY 159, 158
O&dH+Y 507,980
- ExY 93,480
il < Xt 40,0003 *85H = 12& 40,800
A E=H S 20,000& *190H x12& 45,600
Jhat2 7,080,000& 7,080
- ANEEHEXH 464,000 189 *43| 33,408
- & 242 123,120
25 0] & 130,000& *39H x12& 60,840
20~25E 0| 8+ 110,000& *15H x12& 19,800
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ro 02
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2 Al
SAH(DELN)
SENESTEEED )

SN HH-S(BN) - MBAY - B il HlnE2
- 156~204 0] ¢ 80,0003 x17 128 16,320
- 10~15 0] e+ 60,0003 x13H 128 9,360
- 5~10 0] ¢ 50,000 x28H x12& 16,800
-RE2fsY 88,560
45 60,000 123 128 88,560
i R R =y 30,0003 x3H 128 1,080
-StMA st 80,000& 123 128 118,080
-HeSRAE 29,852
- S0t 10,800
-E£3tat 3 800,000& »12& 9,600
OF UG AHI 130,000& x123F »12& 191,880
OZEF Ol 423,427
=g 4,234,264,000% /128 *60%*23] 423,427
OHIE 4| 123,214
- S H
81,859,000 /128 »78%*86%+1/30* 12 1,831
-=p
4,234,264,000% /122 «86%*1/30* 12 121,383
204 A=A H| 201,780 196,320 5,460
02 A2l 201,780 196,320 5,460
OE S 400,000& x 18 128 4,800
OFEAS-\3= 250,000 x3H 128 9,000
Ooaxgd 4 155,000& 41H 128 76,260
Oz 140,000& 32 » 128 53,760
O w, At 105,000 46 » 122 57,960
|23l (AgsEE3A) 262,069 270,619 A 8,550
JI23l 262,069 270,619 A 8,550
201 L2l 96,751 97,851 A 1,100
01 At 22l 93,151 93,051 100
OJlE=+=&Hl 15,621
ozg=¢ 51,700
g3y 51,700
OJ12= &l 25,830
02 8322l 3,600 4,800 A 1,200
O3 & HA 3,600
—Ruds= 300,000& =122 3,600
202 Odl 68,388 68,388 0
01 =S LHA YI 68,388 68,388 0
OJI2n I 68,388
203 R =&Yl 38,130 38,130 0
M II22FIR=F 8,300 8,300 0
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O NE 4,400,000& =1 4,400
OPot™ Ml & 1,300,000& x3H 3,900
02 d R R =AY 4,690 4,690 0
OZ&E A& & H| 4,690
04 ENSI IR =Y 25,140 25,140 0
O2ddE S E,egord A 2EX
250,000 *44 2~ x 128 12,000
O HlH 395,000& 1 A %128 4,740
O&dl &, 4 A HEH 350,000 #2002~ x12& 8,400
204 &R~ A H| 13,200 13,200 0
01 S R-HAY| 13,200 13,200 0
OagME 400,000& x1H x12& 4,800
O & 100,000& *3H x12& 3,600
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@EXIS| 1,000,000& *2CH 2,000
O& K= AR 6,000,000& = 1CH 6,000
OMRE MM 400,000& #2404 9,600
OMEE 22Xt 400,000& =104 4,000
omelg =& 400,000& *10H 4,000
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A AaagN
B HEEAAYIINTE
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
==l I RPN 100,000& = 15CH 1,500
—oHEPAXERZEHI 23,000& *50CH 1,150
- S A8 A 110,000& *9CH 990
-2HEE 350, 0003 =2CH 700
- 1197 g2 X &H| 1,000,000& *3Al E 3,000
-HAHZ2ZAd AN, SISED 300,000& *=3CH 900
- 24827 X4l 7,800
= H | 20,000, 000& * 1= *x6% 1,200
I Xl = 1,500,000& *6= *6% 540
- ols= 1,500, 000& *30= *6% 2,700
SUH= 1,000,000& *56= *6% 3,360
-S4, ZE X122 300,000& *3JH 2~ 900
A=l RN R el 95,000, 000& *1CH 6% 5,700
-2AZFZANAE R 22 232,033,330 *6% 13,922
- M AEH S X 22 8,214
— & AMCCTVS Xl 2t 2l 1,759
- 2AM 24,314,000& *6% 1,459
K| 5,000,000& *6% 300
- d 20l LA 200,000& = 17N E 3,400
- 110018 HHE=>
250,000& *9IH 2~ 2,250
- 19N AAX EXE HH 2%
100,000 *510H 2 5,100
- 1197220 Z2g2eld X2
2,000,000 *2JH A~ 4,000
- ESXd AU KA 250,000& =64 1,500
-Ad= R XYl 16,102
- EAMNELAEHY| 29,820
- & AMALSHI| 400,000& *53] 2,000
A g Xteks X2 259,254 217,815 41,439
201 YEr2 Y| 242,454 216,815 25,639
02 3524t 242,454 216,815 25,639
03322 % HA 38,254
- XS XA 470,000 *3CH *13] 1,410
-S8AsK BEE& 27,870
- ST A 2 der3 TS 2,929
- XHASBEAZ 1,645
5E 0 & 35,000& *12CH x23] 840
54 0] Bt 35,000& *23CH *13] 805
-S4y JLUKMEZZ 4,400
== Xt 880, 000& *50H 4,400
(@PNE=FaR=1a:] 204,200
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SR AUESIA(AYSEIH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

-A8SE 4,350,000& =3CH 13,050
-SEsE 4,450,000& =1CH 4,450
-Z85E 5,800,000& =3CH 17,400
-UHEsg 9,850,000& = 1CH 9,850
- 4832 3,840,000& *2CH 7,680
-UHEs2 7,500,000 =3CH 22,500
-2 7,510,000& =7 CH 52,570
- E oIt 3,850,000 = 14CH 53,900
-7 dE &yl 22,800

405 X+HaHF SHI 16,800 1,000 15,800

01 JtMt = S F SHI 16,800 1,000 15,800
OMUS A X Xe & XA ST 16,800

AgEEOISN 88,044 96,640 8,596
= 88,044

101 @121l 27,500 22,051 5,449
= 27,500

02 JIEt& B % 27,500 22,051 5,449
OaggxodEd2d 27,500
= 27,500

201 L2 Y| 56,044 67,200 A 11,156
= 56,044

01 At 22l Yl 56,044 67,200 A 11,156
Oagt8xXoa2dy 56,044
= 56,044

202 04t 1,800 2,159 A 359
= 1,800

01 2LHOHI 1,800 2,159 A\ 359
Oagg8xXoE2d 1,800
= 1,800

203 PR =&Y| 2,700 5,230 N 2,530
= 2,700

04 ENSIHRF=EY| 2,700 5,230 AN 2,530
OAagEXoHE2YH 2,700
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AU AR ELX 442,615 433,975 8,640

201 L2 | 111,085 111,415 £ 360

01 At 22l Yl 111,055 111,055 0
OgdetE A =EH| 32,000
ozg=sY 3,720
-2 ANE 3,120
MNEN=R 130, 000& *2H x4 3] 1,040
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A DA
B HEEAAYIINTE
Cel: S3USALHBA(ALSEFA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
== 127,940
201 L2l 20,010 20,010 0
A 2,500
< 17,510
01 At 2t 2l 17,510 17,510 0
O=4ltl 15,110
- MHHEd &5 & EHEI 24l 10,000
- &S 119 R RN 22X S4ld]
7,0003 365 x 1A +2H 5,110
ogdxz 2,400
—SIMHMEEZ=EREH S X 300,000 «2CH 43| 2,400
03 A2 Z Hl 2,500 2,500 0
Oz Agsd 2,500
EN 2,500
206 M= Hl 68,530 57,862 10,668
A 2,100
< 66,430
01 MHZ 8l 68,530 57,862 10,668
O3 & e A 3 oF R 3,200
OgHy=0tA3 200,000& 204 4,000
gdotE s 20,000 =100 2,000
O1197 28X &S 20,000 »7CH 523 7,280
O11972 3 X &MAasSH 15,000& =701 x203] 2,100
o192l SSHIES
1,200,000& =70 23] 16,800
o197l S=+7Le WSS
1,000,000 *2H A~ 2,000
OM97z2ll 22l 223
3,000,000& *2MI E 6,000
OXsSHASI| e el 880,000& *4H 3,520
OXNSHAMSI X 4,480
sEE %, ESE 50,000& 304 1,500
OOt & =AD| ME 80,0002 10Kl E 800
OgHIMH AES 5,000& *400H 2,000
O=2£4 3D 40,000& 504 2,000
OstMele ¢tEitE XE 4,500
- 43| 25,000 5001 x23] 2,500
-—H=3dE2E 2| 20,0003 5001 23] 2,000
OFAAHE JI=AEANE ES 2,250
- 23| 25,000 504 1,250
—H=32&8 ZXD| 20,000& 504 1,000
OSIM AL MHAME EF 2,000
Ods7x Adsd 3 2,100
EN 2,100
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A AL
HE: HYBAAUI|HDE
el HEUSAYEEL(ALSSEIN) (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
301 €EtE &= 3,600 3,600 0
A 500
S 3,100
09 EAMAHIESS 2,600 2,600 0
Ogxxze2d & WHEd FIU N
7,000 x150& *22] 2,100
Ooa=xx 2gdeEd FIHNAE 500
e 500
NJg2d=3 1,000 1,000 0
OAYHE 9 HUEE S22 AT
100,000& 10 1,000
405 TtatF S 40,900 34,200 6,700
01 ML ESFHSH 40,900 34,200 6,700
O3t & & &bl 5,100
-AESA 87,500& 40 «10= 3,500
-2 200,000 »4CH »2 K 1,600
OFUE NSHASII 2,600,000 «1CH 2,600
O A= 5,700,000 «1CH 5,700
OF=&tl 228 HHlX 400,000 *2H 800
OH¥EsUa U 6,000
OsxSHHE 2823 9,450
O=&o B A 11,250
BAMAEZEH2Z 119,500 157,167 A 37,667
401 AIEHI L 2CHYI 119,500 157,167 A 37,667
01 AlZHI 119,500 157,167 A 37,667
OAAE ooz £X 31,500
OFMMEH X2 HNZFAN &F 9,000
OFRA=SIHSA 40,000
Otlzloa LepdZH 15,000
OZ=JIX= old &x 15,000
oosd &xXl 9,000
L2LEFANE 22 33,880 51,880 218,000
201 LBt2 1,130 1,130 0
02 s3=9Hl 1,130 1,130 0
OAIZ& &8s XIHl 1,130
- AdE 2l 20,0002 * 113 & %1/2 1,130
401 AIEHIZ 2 CHYI 32,750 50,750 18,000
01 A€ dl 32,750 50,750 218,000
OastE8x AlZ2tel 32,750
-4sA A4 4,000,000% #2704 A 8,000
- AN E= 2,000,000 6K £ 12,000
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A AaagN
B HEEAAYIINTE
Sl IS AYABY(LLSHIN) SREED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OAHAM= HAUS 1,800
O XAl AL 1,600
301 et A= 5,460 7,560 A2,100
09 HAIAHIBAZ 5,460 7,560 A2,100
Oagtold Al ZIIAF =24Hl 7,000& «150H 1,050
OGHAHI 0] AgotM Al &ILX 24
7,000 x180H 1,260
O19agstsUa &2IIA 4 7,000& 150" 1,050
O0elol1198t0tEY =M &I S 4|
7,000& *300H 2,100
HESHAH (D AALA) 7,033,638 6,751,019 282,619
OlHESAY|(AYUSHESH) ,816,233 6,537,094 279,139
ol 2AH| ,816,233 6,537,094 279,139
101 2121 4| ,626,453 6,340,834 285,619
01 2% ,626,453 6,340,834 285,619
OdsEH 81,859
- A8A 81,859,000 »1&H 81,859
O&ZH ,950,176
- A8E 3,950,176
=l 4,377 ,500& 38 x 128 157,590
A8 3,739,800 10 «12& 448,776
= 3,455,000 x19H x12& 787,740
CANSE 3,075,300 »43H «12& ,586,855
Eng=1am} 2,250,400 x20H x12& 540,096
A BEAL 1,882,100& 198 x12& 429,119
o&dz2+¢ 306,792
Oxl22Y , 122,971
- AN2HA2 24 E 728,049
-0t22f4 247,912
- 54224 147,010
O8N+ 458,211
-IExY 85,680
- Hi 2 Xt 40,0003 *83H x12& 39,840
MNAHIES 20,000& *164H «12& 39,360
JHAEZ (1) 30,000& *x10H ~12& 3,600
JbAES(2) 80,000& *3H¥ ~12& 2,880
-AEHEH X 464,000 *13Y *43| 24,128
-dI2xEota 3 120,480
25 0] &f 130,000& x35H x12& 54,600
- 20~25¢ 0] 2 110,000& *19H x12& 25,080
- 15~20 0| 8t 80,000& «15H x12& 14,400
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A AaagN
B HHSAAL (UAALA)
Crol: o2 oyl (LY S H) (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- 10~15E 0| 8t 60,000& x20H x12& 14,400
- 5~104 0] 8t 50,0002 %20 x12& 12,000
-2 82,800
=& 60,000& x115H ~12& 82,800
-AAL G 30,000& *3H x12& 1,080
-3t & 3G 80,000& x115H ~12& 110,400
- 33,643
@F=JR=FSE=, 10,963
OssItat= 500,000& ~12& 6,000
O&HZ A Y| 130,000& 115 »12& 179,400
Og & =IHy| 395,013
-2 =AH 3,950, 124,000 / 128 60%*23] 395,013
O9 e Abdl 115,068
- EZN
81,859,000 /12&! 78%*86%+*1/30%12L 1,831
- =2
3,950, 124,000 /122 «86%*1/30% 12 113,237
204 & 2 £~ H H| 189,780 196,260 N6,480
02 A3 8 x4l 189,780 196,260 AN 6,480
(@FEN=PS| 400,000 x1H 12 4,800
Ooagd 250,000 x3H x12& 9,000
oagtd, 9 155,000& 35 x12& 65,100
Oz 140,000& *39H x12& 65,520
Oagtw, Al 105,000& «36H x12& 45,360
Jl2HH(AeLEY3H) 217,405 213,925 3,480
DR sl 217,405 213,925 3,480
201 L2 | 94,055 95,155 A 1,100
01 At 22l ] 90,455 90,355 100
OJle+2H| 14,605
oggs+4 51,700
=R = 51,700
OPIR=E=2=3:] 24,150
02 332494l 3,600 4,800 A 1,200
03322 % MA 3,600
-[ugsa 300,000& = 12& 3,600
202 044l 63,940 63,940 0
01 2LHOHI 63,940 63,940 0
OJ120 bl 63,940
203 & R =& 34,010 33,830 180
01 J|2 2L L R=AH| 7,000 7,000 0
OagME 4,400,000 x1H 4,400
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N = 0l & At & M A

SN SEAYA
=

B BRENAYIIUTS
Sl AYHSTH(LLSHHN) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
— AR AL e D) 722 .91& 110 =26 *8CH 16,541
- TFUWAE FHAIAZHI 4,500
OF M Al E 125,000 *3H A x 128 4,500
OA & &l S XYl 111,210
==l I RPN 100,000& =27 CH 2,700
—EAETRAZEHY| 23,000 *60CH 1,380
—-sa A8 A 110,000& = 15CH 1,650
-2HEE 350, 000& =2CH 700
- 1197 & 2 X &H| 1,000,000& x4 Al E 4,000
-H3BZAMH, SISED 300,000& *=10CH 3,000
- 24832 R4 12,810
D8, IX= 1,500,000 x19=*6% 1,710
ols, 5= 1,000,000& x185= *6% 11,100
-S4, AR Z2 R X2 300,000& *5JH 2~ 1,500
- eI X 22 76,000, 000& *6% 4,560
-2AZFPZANAE R 22 232,033,330 *6% 13,922
- M AEH S X 22 9,228
— & AMCCTVS Xl 2t 2l 5,000, 000& *4H 2~ x6% 1,200
— 1M YT 208 FHHEA
250,000& *2JH 2~ 500
— 1194 X E X EF HHIE %
100, 000& =124 2~ 1,200
119220 2E2eld g2
2,000,000& =14 4~ 2,000
-Sd &Y w2 250,000& = 12CH 3,000
-2/ X bl 12,980
-EHANFEAEA 28,880
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